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6SLV�JRYRUL�R�WHP��NDNR�MH�SUHELYDOVWYR�Y�SULPHVWQLK�JRUL^NLK�YDVHK�RG�0LUQD�GR

6RONDQD�Y�OHWLK�����������GRCLYOMDOR�QRYR�PHMR�PHG�-XJRVODYLMR�LQ�,WDOLMR��5D]LVNDYD
WHPHOML� QD� XVWQLK� SULaHYDQMLK� OMXGL�� NL� VR� WX� WDNUDW� CLYHOL� DOL� GHODOL�� 1RYD� PHMD� ]D
6ORYHQFH� QL� ELOD� OH� NULYLaQD�� NHU� MH� ELOD� YHOLNR� YHa� NRW� ]JROM� UD]PHMLWYHQD� aUWD� QD
SDSLUMX�� 1L� GHOLOD� ]JROM� ]HPOMH�� GHOLOD� MH� OMXGL�� QMLKRYR� ]JRGRYLQVNR�� NXOWXUQR�
VRFLDOQR�� HNRQRPVNR� LQ� QDURGQR� GHGL^aLQR� GR� WDNUDW� YHGQR� HQRWQHJD� JRUL^NHJD
SURVWRUD�� =DWR� MH� QD� SRVDPH]QLND� GHORYDOD� NRW� SUDYL� NXOWXUQL� ^RN�� NL� MH� SRYVHP
VSUHPHQLO�YVDNGDQMH�CLYOMHQMH��#LYOMHQMH�RE�QRYL�PHML� VR�EUHPHQLOH� WXGL�PHGQDURGQH
LQ�MXJRVORYDQVNH�QRWUDQMH�SROLWLaQH�RNROL^aLQH�Y�aDVX�KODGQH�YRMQH�LQ�,QIRUPELURMD�

8YRG

0HMD�PHG�,WDOLMR� LQ�-XJRVODYLMR��NL� MH� OHWD������VHJOD�PHG�6ORYHQFH�Y�*RULFL� LQ
QMHQLK� SULPHVWQLK� YDVHK�� MH� ELOD� ]D� OMXGL� QD�*RUL^NHP� SRYVHP� QRYD� L]NX^QMD��PHMD
WRG� QL� GHOLOD� QHNHJD� DEVWUDNWQHJD� SURVWRUD�� SUHELYDOVWYR� MH� GREHVHGQR� UD]NODOD� QD
GYRMH�� 3UDY� WR� MH� VQRY� WHJD� VSLVD�� NDNR� VH� XVRGQLK� GRJRGNRY� L]SUHG� SHWGHVHWLK� OHW
VSRPLQMDMR�OMXGMH�V�WH�VWUDQL�GUCDYQH�PHMH�PHG�0LUQRP�LQ�6RONDQRP��SRVHEHM�WLVWL��NL
VR�WDNUDW�CLYHOL�DOL�GHODOL�QD�VDPL�PHML��'REU^HQ�GHO�SULaHYDQM� MH�SULVWQLK� LQ�RVHEQLK�
GHO�SD�MLK�VRGL�Y�XVWQR�L]URaLOR��NHU�SDa�QH�JRYRUH�R�ODVWQLK�L]NX^QMDK��$�]DKYDOD�YHOMD
YVHP�� SUHELYDOFHP� VWRPHWUVNHJD� REPHMQHJD� SDVX�� GYRODVWQLNRP�� CHOH]QLaDUMHP�
PLOLaQLNRP� LQ� SULSDGQLNRP� WDMQH� SROLFLMH� �8GED��� #DO� QDP� QL� ELOR� GDQR� JRYRULWL� ]
YRMDNL�SRVHEQLK�HQRW� -XJRVORYDQVNH�DUPDGH� �.QRM�� LQ�XVOXCEHQFL� FDULQH��QMLK� L]SR�
YHG�EL�]DJRWRYR�SULSRPRJOD��GD�EL�ELOD�UD]LVNDYD�YHURGRVWRMQHM^D�

9�VSLVX�QDMSUHM�SUHGVWDYLPR�NURQRORJLMR�GRJRGNRY��NDNR�VH�MH�PHG�OHWRPD�����
LQ������ L]REOLNRYDOD�SRGRED�PHMH��NL� VH� MH�SUHELYDOVWYX�YWLVQLOD�Y� VSRPLQ��1DWR�SD
VSUHJRYRULPR�R�OMXGHK��NL�VR�]�QMR�WDNUDW�CLYHOL�

ADV�SUHG�SULNOMXaLWYLMR

3R� RGKRGX� -XJRVORYDQVNH� DUPDGH� L]� 7UVWD� LQ� *RULFH�� GRJRGNX�� NL� Y� UHVQLFL� QL
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REHWDO�QLa�GREUHJD�� MH�SUREOHP�ERGRaH�PHMH�SRVWDO�]D�VORYHQVNL�QDURG�QDMSRPHPE�
QHM^H� SROLWLaQR� YSUD^DQMH�� YSUD^DQMH� SUDYLaQRVWL� LQ� KNUDWL� SUDYLFH� ]PDJRYDOFD�� GD
SUHVWDYL� NULYLaQR� UDSDOVNR� PHMR�� NL� MH� ELOD� SRVOHGLFD� LWDOLMDQVNHJD� LPSHULDOL]PD� L]
SUYH� VYHWRYQH� YRMQH�� %LO� MH� WR� aDV� ^WHYLOQLK� QDURGQLK� GHPRQVWUDFLM� LQ� PLWLQJRY�
$JLWDFLMD� ]D� WR� DOL� RQR� VWUDQ� �� SURMXJRVORYDQVNR�� SURLWDOLMDQVNR�� NRPXQLVWLaQR� LQ
DQWLNRPXQLVWLaQR� �� QL� ELOD� ]JROM� VWYDU� SUHVWLCD�� DPSDN� VUHGVWYR�� V� NDWHULP� QDM� EL� VH
YSOLYDOR� WXGL�QD�GRORaLWHY� VDPH�PHMQH�aUWH��3RVHEHM�Y� aDVX��NR� VR� WRG�KRGLOH� UD]QH
NRPLVLMH�LQ�SRL]YHGRYDOH��NMH�GD�EL�SUHELYDOVWYR�UDGR�CLYHOR�

$�EROM�NRW� VR� WHNOL�PHVHFL�� EROM� MH� SUREOHP�PHMH� SRVWDO� WXGL� SRPHPEQR�RVHEQR
YSUD^DQMH� SRVDPH]QLND�� 3RVHEHM� WLVWHJD�� NL� MH� QD� GRPDaHP� SUDJX� YLGHYDO� UD]PHMLW�
YHQH� NRPLVLMH�� =D� GRPDaLQH� MH� ELOD� PHMD� YHOLNR� YHa� NRW� OH� UD]PHMLWYHQD� aUWD� QD
SDSLUMX��1L�GHOLOD� ]JROM� ]HPOMH��GHOLOD� MH� OMXGL�� QMLKRYR� ]JRGRYLQVNR�� NXOWXUQR�� VRFL�
DOQR��HNRQRPVNR�LQ�QDURGQR�GHGL^aLQR��9HV� WD�SURVWRU� MH�ELO�CLYOMHQMVNR�RGYLVHQ�RG
*RULFH� LQ� QMHQHJD� WUJD�� 3RVDPH]QLND� MH� KNUDWL� EUHPHQLOD� WXGL� QMHJRYD� RVHEQD� GUCD
PHG�GUXJR� VYHWRYQR�YRMQR�� YHUVNR� LQ� SROLWLaQR� SUHSULaDQMH� WHU� VRFLDOQR�HNRQRPVNL
SRORCDM��6ORYHQHF�QD�*RUL^NHP�MH�ELO��YVDM�NDU�]DGHYD�PHMR��UD]SHW�PHG�VDPLP�VHERM�
GRPDaR�GHCHOR� LQ� ODVWQLP�QDURGRP��=DWR� MH�ELOR� WDNUDW� ^H�NDNR�SRPHPEQR��NDN^QD
ER�WD�QRYD�PHMD��LQ�QH�OH��NMH�ER�SRWHNDOD�

2GJRYRURY�MH�ELOR�YHOLNR��7DNL��NL�VR�PLULOL��GD�ER�PHMD�]DSUWD�VDPR�GDQ�DOL�GYD
LQ�GD�QH�ER�Y�^NRGR�SUHELYDOVWYX��LQ�RQL��NL�VR�VWUD^LOL��GD�VH�ML�QLWL�EOL]X�QH�ER�VPHOR
SULWL�� 0DUVLNRJD� MH� SUDY� WHVQRED� SUHG� ]DSUWR� PHMR� SUHJQDOD� QD� RQR� VWUDQ�� QDMVLER
]DUDGL� GHOD�� OMXEH]QL� DOL� VYRERGH� JLEDQMD��1L� ELOD� OH� QHSRVUHGQD� ERMD]HQ� SUHG� QRYR
MXJRVORYDQVNR�REODVWMR�NRW�WDNR�NULYD��GD�VH�MH�aORYHN�RGORaLO�]D�RGVHOLWHY�

ADV� SUHG� SULNOMXaLWYLMR� MH� aDV� ^WHYLOQLK� XJLEDQM�� RVHEQLK� VWLVN�� YHVHOMD� LQ� UD]�
RaDUDQMD�� 5D]QRYUVWQH� YHVWL�� VDPRYROMQH� UD]ODJH� WHU� SROLWLaQH� DJLWDFLMH� VR� ]PHGR
VWRSQMHYDOH��>HOH�NR�VR�PHGQDURGQH�UD]PHMLWYHQH�NRPLVLMH�SRVWDYLOH�OHVHQH�NROLaNH��VR
OMXGMH�UD]XPHOL��GD�JUH�]DUHV��'RPDaLQL�VR�WH�NROLaNH�PDUVLNMH�VDPRYROMQR�SUHVWDYOMDOL�
]GDM�Y�WR�]GDM�Y�GUXJR�VPHU��NHU�MLP�MH�PHMD�SUHaNDOD�GYRUL^aH��]DSUOD�SRW�QD�SROMH��ELOD
NDNR�GUXJDaH�Y�QDSRWR��DOL�SD�]DWR��NHU�VR�ELOL�]DYHGQL�WHU�VRYUDCQL�GR�,WDOLMH�

3ULaHYDQMH� L]�0LUQD��.R�VPR� IDQWMH�QD�PLUHQVNHP�SRNRSDOL^aX� ]DJOHGDOL� WDEOR� ]
QDSLVRP��=DaDVQD�PHMD���VPR�VH�UD]EXULOL��=GHOR�VH�QDP� MH�QDUD]XPOMLYR��GD�ER� WX
^OD�PHMD��%LOL�VPR�MH]QL�LQ�]DWR�VPR�WDEOR�HQRVWDYQR�VQHOL�VWUDQ�

%LOH�VR�WR�GUREFHQH�VSUHPHPEH��SUDYLORPD�NROLaNRY�]D�YHa�NRW�GHVHW�GR�GYDMVHW
PHWURY�VHP� WHU� WMD�QLVR�SUHPLNDOL��7XGL�SRWHP��NR� MH�QD�PHMR�CH�SUL^HO�.QRM�� VR� VH
WDN^QH� UHaL� ^H� JRGLOH�� ERGLVL� QD� SUR^QMR� OMXGL� ERGLVL� ]DUDGL� GRPROMXEQLK� aXVWHY
MXJRVORYDQVNLK�YRMDNRY��9VH�GRNOHU�QLVR�ELOH�L]GHODQH�SRWUHEQH�]HPOMHSLVQH�NDUWH�

=DGQML�GQHYL�SUHG�����VHSWHPEURP�VR�ELOL�]D�PQRJH�SRVOHGQML��NR�VR�VH�^H�ODKNR
VYRERGQR�RGORaLOL��NMH�QDM�CLYLMR��%LOL�VR�WR�GQHYL�RGSRYHGL�Y�WUCL^NL�ODGMHGHOQLFL�LQ�Y
SUHGLOQLFL�Y�3RGJRUL��GQHYL�SRVOHGQMLK�SUHSULaHYDQM�GREULK�GHODYFHY��GD�QDM�RVWDQHMR
Y�,WDOLML��NHU�ER�EROMH�]DQMH�
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,WDOLMDQVND�UD]JOHGQLFD��RGSRVODQD�OHWD�������ODVW�*RUL^NHJD�PX]HMD��5D]JOHGQLFD
SULND]XMH�PHMR�]�LWDOLMDQVNH�VWUDQL�Y�EOLCLQL�CHOH]QL^NH�SRVWDMH�Y�1RYL�*RULFL��9
RVSUHGMX�VWD�GYD�MXJRVORYDQVND�YRMDND��Y�R]DGMX�SD�FLYLOQR�SUHELYDOVWYR��NDU

GRND]XMH��GD�MH�ELO�WDNUDW�GRVWRS�QD�CHOH]QL^NR�SRVWDMR�VNR]L�JODYQL�YKRG�CH�GRYROMHQ�
1D�UD]JOHGQLFL�SL^H��GD�MH�LWDOLMDQVNR�MXJRVORYDQVND�PHMD�]DaDVQD�

3ULaHYDQMH� L]� >HPSHWUD��0RMHJD� PRCD� MH� JRVSRGDU� VYDULO� LQ� SUHSULaHYDO�� QDM
RVWDQH�� 0RM� PRC� SD� PX� MH� UHNHO�� �=QDP� GHODWL� LQ� ]DWR� QH� ERP� QLNROL� ODaHQ�� 6HP
6ORYHQHF�LQ�ERP�RVWDO�6ORYHQHF��

.PHWMH��NL�MLP�MH�]HPOMD�RVWDOD�QD�RQL�VWUDQL��VR�SRKLWHOL�V�VSUDYLORP�SULGHOND��9
0LUQX� MH�ELOD� ]DGQMD� VNXSQD� YHVHOLFD� LQ�PD^D� ]D� YVR� IDUR�� WR� MH� ]D�0LUHQ��5XSR� LQ
3Ha��'QH����� VHSWHPEUD�VH� MH��NRW�EHUHPR�Y�NURQLNL� IUDQaL^NDQVNHJD� VDPRVWDQD��RG
.RVWDQMHYLFH�SRVORYLOR�YHOLNR�^WHYLOR�VORYHQVNLK�YHUQLNRY�

6DPRVWDQVND� NURQLND� L]� OHWD� ������ 6� WHCNLP� VUFHP� VR� VH� SR� SHWLK� OLWDQLMDK
OMXELWHOML�.RVWDQMHYLFH�YUDaDOL�SUHNR�CH�SRVWDYOMHQH�GHPDUNDFLMVNH�aUWH�Y�*RULFR�

/MXGMH� VR� MHPDOL� VORYR� RG� VRURGQLNRY�� SULMDWHOMHY�� OMXELK� RVHE� LQ� GHORGDMDOFHY�
]DGQMLa� VR� ^OL� QD� VSUHKRG�� Y� NLQR� DOL� QD� SOHV� Y� *RULFR�� 3UHPRCQHM^L�� NL� VR� SR]QDOL
SRPDQNDQMH�Y�&RQL�%�LQ�NL�VR�ELOL�SUHSULaDQL��GD�ER�PHMD�GRNDM�OHW�WHVQR�]DSUWD��VR�VL
Y� *RULFL� QDNXSLOL� YHaMH� NROLaLQH� CLYOMHQMVNLK� SRWUHE^aLQ�� VXURYLQ� ]D� REUW�� EODJD�
SRVRGMD�� KUDQH� DOL� SD� UH]HUYQLK� GHORY� ]D� NROHVD�� =DGQMHJD� GQH� MH� QLa� NDM� VORYHVQR
RG^OD�PLPR�]YHGDYLK�GRPDaLQRY�^H�=DYH]QL^ND�YRMD^ND�XSUDYD�

3ULKRG�MXJRVORYDQVNH�YRMVNH

/MXGMH� VR� aLVWLOL� GYRUL^aD� LQ� SRPHWDOL� XOLFH�� GD� VR� ELOH� YDVL� RE� SULKRGX� -XJRVOR�
YDQVNH�DUPDGH�VQDCQH��*UDGLOL�VR�VODYRORNH��9�WLVWLK�XUDK��NR�MH�ELO�]DSRYHGDQ�SULKRG
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YRMVNH��VH�MH�QD�FHVWDK�LQ�WUJLK�WUOR�OMXGVWYD�]�URCDPL�Y�URNDK��3ULKRG�-XJRVORYDQVNH
DUPDGH� MH�R]QDQLO�NRQHF� LWDOLMDQVNH�RNXSDFLMH��.OMXE� UD]RaDUDQMX�]DUDGL�QHSUDYLaQH
PHMH�MH�ELOR�YHVHOMD�SRYVRG�GRYROM��6ODYMH�VH�MH�]DYOHNOR�SR]QR�Y�QRa��%UH]�YRMDNRY
VHYHGD�� WL� VR� ELOL� WDNRM� SR� SULKRGX� UD]SRUHMHQL� Y]GROC� PHMH�� =DWR� VR� ELOL� PDUVLNMH
GRPDaLQL� PDOFH� UD]RaDUDQL�� SULaDNRYDOL� VR� EROM� VYHaDQ� LQ� QH� ]JROM� UXWLQVNL� SULKRG
YRMDNRY��AHWD��NL�VH� MH�SUHPDNQLOD� L]�/LMDND�SURWL�5RCQL�GROLQL��PHQGD�QLWL�QL� WRaQR
YHGHOD��NMH�QDM�VH�XVWDYL�LQ�NMH�QDM�]DVHGH�VWUDCDUVNH�SRORCDMH��9�5RCQL�'ROLQL�MH�QHND
CHQVND�SRYHOMXMRaHJD�RILFLUMD��NL�MH�ELO�QD�NRQMX��]DPHQMDOD�]D�7LWD��9�9UWRMEL�SD�VR
GRORaHQH� RGVHNH�PHMH� aXYDOH� VNXSLQH� GRPDaLQRY� CH� SUHG� SULKRGRP� -XJRVORYDQVNH
DUPDGH��/MXGMH�VR�YRMDNRP�UDGL�SULVNRaLOL�QD�SRPRa��VNXSDM�VR�YOHNOL�CLFR�RE�PHML�LQ
MLP�SRVRMDOL�UD]QR�RURGMH��%LOD�MH�WR�YHQGDUOH�QMLKRYD�YRMVND�LQ�QMLKRYD�PHMD�

3UYL�GQHYL�RE�QRYL�PHML

9�SUYLK�GQHK�OMXGMH�PHMH�QLVR�Y]HOL�]HOR�UHVQR��3UHGYVHP�SD�QH�NRW�QHNDM��aHVDU
QH�VPHMR�SUHNRUDaLWL��1LVR�EHCDOL��OH�SUHYHa�MH�ELOR�^H�VWYDUL��NL�VR�YH]DOH��VRURGVWYR�
SULMDWHOML��GUDJH�RVHEH��GHOR��YVDNGDQMH�QDYDGH�LQ�SRWUHEH���RELVN�QDMEOLCMH�JRVWLOQH�QD
3ULVWDYL��Y�>WDQGUHCX��Y�5XSL��DOL�RELVN�]GUDYQLND�Y�*RULFL��GYLJ� L]SODaLOD� ��RGSUDY�
QLQH� �EXRQD� XVFLWD�� RE� SUHQHKDQMX� GHORYQHJD� UD]PHUMD� Y� ODGMHGHOQLFL� Y�7UCLaX� LQ� Y
SUHGLOQLFL�Y�3RGJRUL��CH�QDURaHQR�LQ�SODaDQR�EODJR�]D�REOHNR�Y�*RULFL�LQ�^H�LQ�^H�

3ULaHYDQMH� L]�0LUQD��2UJDQL]DWRU� SURVODYH� QD� /LMDNX� MH�PRUDO� SUHWLKRWDSLWL� YHa
WLVRa� QDURaHQLK� VWHNOHQLF� YLQD� FKLDQWL�� 6� WRYRUQMDNRP� VR� WUJRYFL� SUL^OL� GR� 5XSH�
SRWHP�SD�JD�MH�GHVHW�QD^LK�IDQWRY�SUHQHVOR�aH]�9LSDYR�Y�0LUHQ�

9� NDWROL^NL� NQMLJDUQL� Y� *RULFL� VR� IUDQaL^NDQL� V� .RVWDQMHYLFH� CH� SROHWL� QDURaLOL
QRYH� MDVOLFH�� NHU� VR� SUHM^QMH� ELOL� RGYOHNOL� V� VHERM� ,WDOLMDQL��'D� EL� MLK� KRWHOL� WXGL� RQL
SUHWLKRWDSLWL�� R� WHP� VDPRVWDQVND� NURQLND� QH� JRYRUL�� ]DSURVLOL� SD� VR� PLQLVWUVWYR� ]D
WUJRYLQR�Y�%HRJUDG�]D�XYR]QR�GRYROMHQMH��3UHMHOL�VR�JD�����GHFHPEUD�LVWHJD�OHWD�

3UHWLUDQHJD�VWUDKX�GRPDaLQL�RE�SUHKRGX�PHMH�QLVR�REaXWLOL�� WXGL�VNULYDOL�VH�QLVR�
AH]�VR�^OL�NDU�VUHGL�EHOHJD�GQH��SUHN�SROM�LQ�NRORYR]RY��*ODYQLP�FHVWDP�LQ�YRMDNRP
SD�VR�VH�YVHHQR�UDMH�RJQLOL��aHSUDY�MLP�WL�YHaMLK� WHCDY�SUDYLORPD�QLVR�SRY]URaDOL��9
SULPHUX�� GD� VR� MLK� ]DORWLOL�� MH� LVNUHQR� SRMDVQLOR� ]DOHJOR��9aDVLK� VR� YRMDNH� FHOR� RE�
YHVWLOL�� GD� ER� GRORaHQD� RVHED� SRQRaL� SUHN� NRORYR]RY� QD� YUWRMEHQVNHP� SROMX� SUH�
WLKRWDSLOD�ODVWQR�SUHPRCHQMH�L]�*RULFH�N�QDP�

#HOH]QD�]DYHVD

$�WDN^QD�GRPDaQRVW�LQ�REOMXEH��GD�ER�PHMD�SR�PHUL�OMXGL��VR�L]�GQHYD�Y�GDQ�KLWUR
NRSQHOH��0QHQMD�R� WHP��NGDM�QDM�EL�PHMD�SRVWDOD�]DSUWD��VR�UD]OLaQD��1HNDWHUL� VRJR�
YRUQLNL�VR�SUHSULaDQL��GD�VH�MH�WR�]JRGLOR�CH�WDNRM�SR�SUYLK�GQHYLK��GUXJL��GD�MH�PHMD
SRVWDOD�]DSUWD�^HOH�Y�QRYHPEUX�OHWD������
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3ULaHYDQMH�L]�9UWRMEH��9UDaDO�VHP�VH�SR�VWH]DK�L]�*RULFH�Y�0LUHQ��1DHQNUDW�VWRSL
SUHG�PHQH�YRMDN� LQ� ]DYSLMH�� GD�ER� VWUHOMDO�� aH� VH�QH�XVWDYLP��2GYHGHO�PH� MH�QD� ND�
UDYOR��NMHU�PH�MH�YRGQLN�]DVOL^DO�LQ�SR�NUDM^L�]DVWUD^HYDOQL�SULGLJL�L]SXVWLO��.RW�RWURN
VHP�VH�Y�aDVX�&RQH�$�QDYDGLO��GD�MH�YVDN�YRMDN�QHNDM�GREUHJD��7DN^QR�SUHGVWDYR�VHP
LPHO� ]DUDGL� WHJD�� NHU� VR�ELOL� SRVHEHM�DPHULNDQVNL� YRMDNL�GR�QDV� RWURN� ]HOR� SULMD]QL�
1DVLOQL�QDVWRS�YRMDND�PH�MH�]HOR�SUHVHQHWLO�LQ�SUHWUHVHO��7R�MH�ELO�PRM�SUYL�VWLN�]�PHMR�
7DNUDW�VHP�WXGL�SUYLa�VSR]QDO��NDM�MH�WR�VYRERGD�LQ�NDM�QH�

9VL�WDN^QH�VUHaH�QLVR�LPHOL��PQRJH�MH�L]�NDUDYOH�SRW�YRGLOD�GR�PLOLaQLNRY�LQ�GR�8G�
EH��6OHGLOD�VR�QHSULMHWQD�]DVOL^HYDQMD�LQ�Y�QDMEROM^HP�SULPHUX�OH�VRGQLN�]D�SUHNU^NH�

0HMD� MH� SRVWDOD� UHVQD� ]DGHYD�� ]D� QHNDWHUH� UDGRCLYH� YDVRYDOFH� LQ� YHVHOMDNH� WXGL
XVRGQD�� 1D�PHML� MH� ]DaHOR� SRNDWL�� 9]URN� MH� ELO� SUHSURVW�� 7X� MH� PHMD� ORaLOD� NRPX�
QLVWLaQL� LQ�DQWLNRPXQLVWLaQL� VYHW��NL�JD� MH� ]DMHOD�KODGQD�YRMQD��9�7UVWX� MH�ELOR� OHJOR
^WHYLOQLK�WDMQLK�VOXCE��NL�VR�ELOH�VRYUDCQH�GR�-XJRVODYLMH��0HG�0LUQRP�LQ�6RONDQRP
MH�YRGLOD�JODYQD�LOHJDOQD�SRW�WDNR�]D�WDMQH�DJHQWH�NRW�WXGL�]D�MXJRVORYDQVNR�SROLWLaQR
HPLJUDFLMR�� 3UHGYVHP� ]DUDGL� XJRGQH� L]REOLNRYDQRVWL� R]HPOMD�� ODKNHJD� GRVWRSD�
QHSRVUHGQH� EOLCLQH� QDVHOM� LQ� GREUHJD� FHVWQHJD� WHU� CHOH]QL^NHJD� RPUHCMD�� 5DVOD� MH
CHOH]QD�]DYHVD��aHSUDY�QH�WDN^QD�NRW�QD�Y]KRGQLK�PHMDK�DOL�Y�6RYMHWVNL�]YH]L��#LaQH
RYLUH� VR� ELOH� SRYVRG� WDP�� NMHU� MH� ELOR� PHMR� ODKNR� SUHNRUDaLWL�� QD� SULPHU� QD� ^HP�
SHWUVNHP� SROMX�� RE� SRWL� L]� >HPSHWUD� Y�5RCQR�'ROLQR�� QD� CHOH]QL^NL� SRVWDML� Y�1RYL
*RULFL� LQ� Y� EOLCLQL� PHMQLK� SUHKRGRY�� 7L� VR� ELOL� QDMEROM� ]DVWUDCHQL�� Y� >HPSHWUX� VR
SRVWDYLOL� ^SDQVNH� MH]GHFH� LQ� L]NRSDOL� QD� GHOX� FHVWH� MDPR�� GD� MH� PRUDO� YR]� QDUHGLWL
RYLQHN��9�5RCQL�'ROLQL�VR�ELOH�EHWRQVNH�NRFNH��]DSRUQLFH�VR�GYLJRYDOL�]D�YVDN�DYWR
DOL�NDPLRQ�SRVHEHM�LQ�KLWURVW�YR]LOD�MH�ELOD�RPHMHQD�QD����NP�K��9�QHSRVUHGQL�EOLCLQL
PHMQH�aUWH�MH�ELO�SDV�QHREGHODQHJD�VYHWD��SUHN�NDWHUHJD�VR�YRGLOH�VWUDCDUVNH�VWH]H��1D
WLVWLK� RGVHNLK�� NMHU� MH� ELOR� QDMODCMH� EHCDWL�� VR� YRMDNL� QDPHVWLOL� VLJQDOQH� UDNHWH�� 3R�
VWDYLOL�VR�RSD]RYDOQH�VWROSH�LQ�L]NRSDOL�MDPH��RG�NRGHU�VR�VNULWL�YRMDNL�QDG]LUDOL�PHMR�

6RCLWMD�PHG�GRPDaLQL�LQ�YRMDNL�MH�ELOR�NRQHF��.PHWRP�MH�REODVW�UHV� WDNRM� L]GDOD
GYRODVWQL^ND�GRYROMHQMD�LQ�SRVHEQH�GRYROLOQLFH�]D�REGHORYDQMH�]HPOMH�Y�VWRPHWUVNHP
REPHMQHP�SDVX��]D�YVH�RVWDOH�SD� MH�ELOD�PHMD� ]DSUWD��1D�SRWQL� OLVW� MH�ELOR�SRWUHEQR
aDNDWL�QDMPDQM�OHWR�GQL��D�GRELOL�VR�JD�UHGNL��1DMODCMH�GYRODVWQLNL��NL�VR�GRND]DOL��GD
QLPDMR�QDPHQD�EHCDWL��6�SUHVWRSRP�PHMH�SD�VR�GRNDM�WHCDY�LPHOL�QHNDWHUL�6ORYHQFL�]
RQH�VWUDQL��NL�VR�RVWDOL�WX�QD�RELVNX�SUL�VYRMFLK��9HUMHOL�VR�SDa��GD�ER�PHMD�]DSUWD� OH
GDQ� DOL� GYD�� ]DWR� MLK� YUQLWHY� QL� VNUEHOD�� .GRU� QL� LPHO� GRYROM� NRUDMCH�� GD� EL� PHMR�
GRNOHU�VH�MH�^H�GDOR��SUHaNDO�LOHJDOQR��MH�QD�YUQLWHY�Y�,WDOLMR�aDNDO�QHNDM�PHVHFHY�

#LYOMHQMH� MH� SRVWDMDOR� EROM� LQ� EROM� QH]QRVQR��9� VWRPHWUVNHP� REPHMQHP� SDVX� QL
ELOR� GRYROMHQR� VDGLWL� QLa�� NDU� MH� UDVOR� YL^MH� RG� NURPSLUMD�� FHOR� URC� QH�� LQ� GYDMVHW
PHWURY�RG�PHMH�VR�PRUDOL�GRPDaLQL�SRVHNDWL�YVH�GUHYMH��3ROMH��NL�JD�MH�SUHaNDOD�PHMD�
VR�ODKNR�REGHORYDOL�OH�GR�PHMH��1D�RVWDOR�SRORYLFR�]HPOMH�VR� ODKNR�VWRSLOL� OH��aH�VR
SUHM� SUHaNDOL� GYRODVWQL^NL� SUHKRG�� 3UHN� PHMH� VH� ]� EOLCQMLPL� LQ� VWDULPL� VRVHGL� QLVR
VPHOL�SRJRYDUMDWL��SD� aHSUDY� VR� VH�QMLYH� GRWLNDOH� GUXJD� GUXJH��1D� VHGDQML�(UMDYaHYL
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XOLFL�Y�1RYL�*RULFL� LQ�*RUL^NL�XOLFL�Y�>HPSHWUX�SUL�*RULFL� MH�PHMD�SRYVHP�SUHVHNDOD
GUXCDEQR�CLYOMHQMH�VWDULK�GRPDaLQRY��6RVHGMH�VH�FHOR�SR]GUDYOMDOL�QLVR�YHa��2G�QHN�
GDQMHJD�VRVHGVNHJD�CLYOMHQMD�QL�GDQHV�RVWDOR�YHa�QLa��1DMWHCMH�SD� MH�ELOR� WLVWLP��NL�VR
ELYDOL�Y�VWRPHWUVNHP�REPHMQHP�SDVX��NRW�QD�SULPHU�Y�0OLQX�Y�>HPSHWUX��QD�3ULVWDYL�
QD�NRQFX�VHGDQMH�(UMDYaHYH�XOLFH�DOL�RE�9HOLNL�SRWL�Y�6RONDQX��#LYHOL�VR�PHG�GYHPD
PHMDPD���PHG�GUCDYQR�PHMR�LQ�PHG�aUWR�REPHMQHJD�SDVX��%UH]�SRVHEQHJD�GRYROMHQMD
LQ�aH�RELVN�QL�ELO�SUHM�QD]QDQMHQ�RILFLUMX�QD�NDUDYOL��QL�VPHO�QLKaH�N�QMLP��^H�GRPDaLQL
QH�� 1D� 3ULVWDYL� VR�PRUDOL� GRPDaLQL� JRVWD� FHOR� VSUHPLWL� GR� NUDMD� REPHMQHJD� SDVX�
3ULMDWHOML� LQ� VRURGQLNL�QLVR� UDGL� ]DKDMDOL�N�QMLP��SUHYHa� MH�ELOR� VLWQRVWL� LQ�QHODJRGQLK
REaXWNRY��1DMKXMH�MH�ELOR�RWURNRP��NL�VR�RVWDOL�EUH]�VRYUVWQLNRY��LQ�aH�MLP�MH�CRJD�X^OD
QD�RQR�VWUDQ�� MLP�VWDU^L�QLVR�GRYROLOL��GD�EL�^OL�SR�QMR��&HOR�]D�REQRYR�VWDULK�VWDYE�VR
PRUDOL�GRELWL�SRVHEQD�JUDGEHQD�GRYROMHQMD� L]�%HRJUDGD��9�0OLQX�Y�>HPSHWUX� WHU�QD
3ULVWDYL�VR�PRUDOL�OMXGMH�RGVWUDQLWL�DOL�SRELWL�YVH�SVH��NHU�VR�PRWLOL�YRMDNH�

2� YVHM� DEVXUGQRVWL� LQ� JURWHVNQRVWL� CLYOMHQMD� RE� PHML� QDMEROM� L]UD]LWR� SULaDWD
QDVOHGQMD�GYD�GRJRGND�

3ULaHYDQMH� LV�3ULVWDYH��0RM�VWULF� ]�RQH�VWUDQL� MH� LPHO� ^WDOR�QD� WHM� VWUDQL��SUDY�QD
PHML��1HNHJD�MXWUD�MH�Y�QMHM�QD^HO�PUWYHJD�aORYHND��]D�NDWHUHJD�VH�MH�NDVQHMH�L]ND]DOR�
GD�MH�ELO�LWDOLMDQVNL�GUCDYOMDQ��3RNOLFDO�MH�LWDOLMDQVNR�SROLFLMR��D�WD�VH�MH�EDOD�YVWRSLWL�Y
^WDOR�� NHU� MH� ELOD� Y� -XJRVODYLML�� 5HNOL� VR�PX�� QDM� JD� RQ� SRWHJQH� YHQ� ]� YRORP�� SD� QL
KRWHO��-DYLOL�VR�]DWR�QD^LP��.R�VR�SUL^OL�JUDQLaDUML� �REPHMQL� VWUDCDUML��RS��DY����SD�Y
^WDOR� WXGL� QLVR�PRJOL� YVWRSLWL�� NHU� MH� ELO� YKRG� YDQMR� OH� ]� LWDOLMDQVNH� VWUDQL��0HMH� SD
QLVR�VPHOL�SUHaNDWL��=DWR�VR�SRGUOL�GHO�VWHQH�LQ�RGYOHNOL�PUOLaD��3R�REGXNFLML�VR�WUXSOR
YUQLOL�,WDOLMDQRP��NL�VR�PRUDOL�SUHQRV�PUOLaD�^H�SODaDWL�

'UXJL�SULPHU�VH�MH�]JRGLO�QD�PLUHQVNHP�SRNRSDOL^aX��NL�JD�MH�PHMD�GHOLOD�QD�SRO�
3ULVWRS�QDQM�MH�ELO�GRYROMHQ�OH�]D����QRYHPEHU��SUL�SRJUHELK�SD�VDPR�QDMRCMLP�aODQRP
GUXCLQH��NL�VR�MLK�YHV�aDV�QDG]RURYDOL�YRMDNL�]�QDSHUMHQLPL�SX^NDPL�

3ULaHYDQMH�L]�0LUQD��0RML�QHaDNLQML�MH�XPUO�RaH��NL�MH�RVWDO�QD�RQL�VWUDQL��=DWR�VR
JD� PRUDOL� SRNRSDWL� QD� LWDOLMDQVNHP� GHOX� PLUHQVNHJD� SRNRSDOL^aD�� 1HaDNLQML� QLVR
GRYROLOL� LWL� SUHNR�� 'RYROMHQR� SD� ML� MH� ELOR�� GD� MH� ELOD� RE� SRJUHEX� SULVRWQD� QD� QD^L
VWUDQL�SRNRSDOL^aD��7LN�SUHGHQ�VR�RaHWD�]DJUHEOL��VR�NQRMHYFL�GRSXVWLOL��GD�VR�WUXJR�]D
SRO�PHWUD�SRWLVQLOL�aH]�PHMR��7DNR�MH�ODKNR�QHaDNLQMD�SR]GUDYLOD�VYRMHJD�RaHWD�

1RYH�LQ�QRYH�]DSRYHGL��NDM�GRPDaLQL�VPHMR�LQ�aHVD�QH��VR�VH�NDU�YUVWLOH��'RVWRS
SUHG�JODYQL�YKRG�QD�CHOH]QL^NR�SRVWDMR�Y�1RYL�*RULFL�MH�ELO�SUHSRYHGDQ��.HU�VR�ELOL
QD� SRVWDML� SUYL� ^WLUMH� WLUL� SUHEOL]X� PHMH�� SRQRaL� CHOH]QLaDUML� QLVR� VPHOL� QLWL� NUHWQLF
SUHJOHGRYDWL��1DG]RU�QD� YODNLK� MH� ELO� VWURJ�� QD� SRVWDML� MH� ELOD� SRVHEQD� aDNDOQLFD� ]D
PDWHUH�]�RWURNL��NL�VR�PRUDOH�GOMH�aDVD�aDNDWL�QD�YODN��/RYFHP�MH�ELO�GRVWRS�Y�HQR�
NLORPHWUVNL�REPHMQL�SDV�GRYROMHQ� OH� V�SRVHEQLP�GRYROMHQMHP� LQ�RE� VWDOQHP�VSUHP�
VWYX� PLOLaQLND�� 6WUHOMDWL� DOL� RURCMH� QDPHULWL� SURWL� PHML� MH� ELOR� VWURJR� SUHSRYHGDQR�
5LELaHP� VH� QL� JRGLOR� QLa� EROMH�9�EOLCLQL�PHMH� SULWL� GR�9LSDYH� MH� ELOR� Y�0LUQX� SUH�
SRYHGDQR�FHOR�RWURNRP��WXGL�QD�*ULYH��NMHU�VR�VH�RWURFL�L]�0LUQD�YHGQR�LJUDOL�VNXSDM
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]�RQLPL�L]�5XSH��QL�ELOR�YHa�PRa��3ULOMXEOMHQR�NRSDOL^aH�Y�6RONDQX�QD�-H]X�SUL�VWDUHP
POLQX�MH�ELOR�SUDY�WDNR�]DSUWR��Y�6RaL�VR�VH�OMXGMH�ODKNR�NRSDOL�OH�QD�*OX^WHUFL�EOL]X
6RONDQVNHJD�PRVWD��$�WXGL�WX�VR�ELOL�YRMDNL��3UHSRYHGDQR�MH�ELOR�KRGLWL�SUHNR�PRVWD�
LWL� QD� WUDGLFLRQDOQL� YHOLNRQRaQL� L]OHW� QD� 6DERWLQ� DOL� QD� WUDGLFLRQDOQR� YHVHOLFR� Y
>HQWPDYHU�� .HU� MH� ELOD� HGLQD� FHVWD� L]� >HPSHWUD� Y� 6RONDQ� SUHN� 5RCQH� 'ROLQH� LQ
3ULVWDYH��WLN�RE�PHML��MH�ELO�QDG]RU�]HOR�RVWHU��AORYHN�VH�MH�PRUDO�VWURJR�GUCDWL�SRWL��QL
VPHO�SRVWDWL�DOL�SUHWLUDQR�JOHGDWL�SURWL�PHML��3RVHEHM�SRQRaL�OMXGMH�QLVR�UDGL�KRGLOL�WRG
PLPR��YRMDNL� VR� MLK�PDUVLNGDM�EUH]�Y]URND�]DMHOL��1DMYHaNUDW�QD�3ULVWDYL� DOL� QD�.R�
VWDQMHYLFL��AHSUDY�Y�NURQLNL�IUDQaL^NDQVNHJD�VDPRVWDQD�QD�.RVWDQMHYLFL�QL�]DSLVRY�LQ
OMXGMH�WXGL�QH�SRPQLMR��GD�EL�YRMDNL�NGDM�QDGOHJRYDOL�NDNR�FHUNYHQR�SURFHVLMR�DOL�GD
EL�QDGOHJRYDOL�YHUQLNH�QD�SRWL�Y�FHUNHY�N�YHaHUQL�PD^L�DOL�N�SROQRaQLFL��MH�VDPRVWDQ
LPHO�WHCDYH��.HU�SUHKRG�VNR]L�CHOH]QL^NL�SUHGRU�SRG�.RVWDQMHYLFR�QL�ELO�GRYROMHQ��VR
OMXGMH�SDa�PRUDOL�SUHaNDWL�.RVWDQMHYLFR�

6DPRVWDQVND� NURQLND� L]� OHWD� ������ ���� DYJXVWD� ����� MH� YRMD^WYR� ]D� FLYLOQR
SUHELYDOVWYR�]DSUOR�SRW���ELOD�XGDUQL^NR�QDUHMHQD�WDNRM�SR�SULNOMXaLWYL����NL�MH�YRGLOD
QD�.RVWDQMHYLFR�LQ�QDSUHM�SURWL�6RONDQX��2UJDQL�YRMD^NH�REPHMQH�VWUDCH��NDNRU�WXGL
RGERUQLNL� ]D�5DIXW� �3ULVWDYD��RS�� DY��� VR� VDPRVWDQVNHJD� SUHGVWRMQLND� SURVLOL�� GD� EL
OMXGHP�RGSUO�SRW��NL�MH�YH]DOD�VDPRVWDQVNR�KL^R�V�FHUNYLMR��3UYL�VR�JRYRULOL��GD�ER�Y
WHNX�GYHK�PHVHFHY�PHMD� LWDN�SUHPDNQMHQD�SURWL�PHVWX� LQ�ER�VWDUD�SRW� ]RSHW�SURVWD�
GUXJL� SD� VR� REOMXEOMDOL�� GD� ERGR� QDUHGLOL� SULPHUQR� SRW�� GD� QH� EL� VDPRVWDQVNR� SR�
VHVWYR� SUHYHa� WUSHOR�� 9VH� MH� RVWDOR� OH� SUL� EHVHGDK�� &HOR� QD� SRQRYQH� SUR^QMH� SUL
GRPDaLK� RGERUQLNLK�� SUL�0/'� Y� 6RONDQX� NDNRU� WXGL� SUL� 2/2� LQ� QL� ELOR� QREHQHJD
RGPHYD��3RYVRG�VH� MH�SDa�SRXGDUMDOR��GD� MH� UHV�SRWUHEQR� OMXGHP�QDUHGLWL�SULPHUQR
SRW�� VDPRVWDQVNL� VDGRYQMDN� SD� ]DYDURYDWL� SUHG� GROJLPL� SUVWL�� D� QDUHGLOR� VH� QL� QLa�
6DPRVWDQ� MH� ELO� SULPRUDQ� �� VDM� VR� OMXGMH� SRNYDULOL� YHV� QDMEROM^L� WUDYQLN�� SRORPLOL
VDGQR�GUHYMH��aH^QMH�LQ�MDEROND��Y�YLQRJUDGX�SD�CH�Y�MHVHQL����QDUHGLOL�YHOLNR�^NRGH��
GD�VDP�QDUHGL�SRW��NDNRU�MR�]PRUH�V�VYRMLPL�GHORYQLPL�VLODPL�LQ�PDWHULMDORP��9�GQHK
RG� ���� MXQLMD� GR� ���� MXOLMD� MH� ELOD� XUHMHQD� SRW� �� SRPDNQMHQD� N�PHML� VDPRVWDQVNHJD
]HPOML^aD������MXOLMD�MH�ELOD�SRWHJQMHQD�^H�ERGHaH�CLFD��Y�GQHK�RG�����GR�����DYJXVWD
SD� SRVXWD� ]� OH^HP�� NDWHUHJD� MH� SRVWDMHQDaHOQLN� Y� *RULFL� GDO� SULSHOMDWL� GR� 5DIXWD
�3ULVWDYD��RS��DY����/MXGVWYR�MH�WR�GHOR�V�SRKYDOR�RGREUDYDOR�

1D� WLVWLK�PHVWLK�� NMHU� VR� VH� GRPDaLQL�PHML� ODKNR� QDMEROM� SULEOLCDOL�� VH� MH� UD]YLO
VYRMHYUVWHQ� NRU]R�� SRVHEHM� Y� QHGHOMDK� SRSROGDQ�� /MXGMH� ]� REHK� VWUDQL� VR� VH� SUHNR
SLVHP��NL�MLK�REODVW�QL�RGSLUDOD��UD]JOHGQLF�LQ�V�SRPRaMR�GYRODVWQLNRY�GRJRYRULOL�]D�XUR
LQ�GDQ��NGDM�VH�ERGR�VUHaDOL��7R�MH�ELO�HGLQL�QDaLQ��GD�VR�VH�VRURGQLNL�LQ�SULMDWHOML��NL�QLVR
LPHOL�GYRODVWQL^NHJD�GRYROMHQMD��YLGHOL�LQ�VH�YVDM�RG�GDOHa�SR]GUDYLOL��7DN^QD�PHVWD�VR
ELOD�Y�5RCQL�'ROLQL��QD�3ULVWDYL� LQ�QD�CHOH]QL^NL�SRVWDML�Y�1RYL�*RULFL��'D�QH�EL�ELOL
YRMDNRP�VXPOMLYL�LQ�GD�MLK�QH�EL�RGJDQMDOL�VWUDQ��VR�OMXGMH�KRGLOL�JRU�LQ�GRO��NRW�GD�VR�QD
VSUHKRGX��AH�Y�EOLCLQL�QL�ELOR�VWUDCDUMHY��VR�PHG�VHERM�WXGL�VSUHJRYRULOL�EHVHGR�DOL�GYH�

3ULaHYDQMH� L]� 1RYH� *RULFH��'HODO� VHP� QD� CHOH]QL^NL� SRVWDML� Y� 1RYL� *RULFL� NRW
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WHOHJUDILVW��PRMH�RNQR�Y�SLVDUQL� MH�JOHGDOR�SURWL�PHML��1HNHJD�GQH�VHP� VNR]L� RGSUWR
RNQR� ]DJOHGDO� QD� RQL� VWUDQL� PRMHJD� VWULFD�� %LO� MH� ^RIHU� DYWREXVD�� 3UHG� KRWHORP
7UDQVDOSLQD��NMHU�MH�ELOD�NRQaQD�SRVWDMD��MH�XVWDYLO�LQ�L]VWRSLO��.R�PH�MH�]DJOHGDO��PL
MH� SRPDKDO� LQ� MD]� QMHPX�� AH]� GHVHW� PLQXW� VWD� Y� PRMR� SLVDUQR� YGUOD� NQRMHYFD�� PH
DUHWLUDOD�WHU�RGYHGOD�QD�NDUDYOR��9VH�WR�MH�]�RQH�VWUDQL�RSD]RYDO�PRM�VWULF��6OHGLOR�MH
]DVOL^HYDQMH��SRYHGDO�VHP�YVH�SR�UHVQLFL��3R�SULGLJL�VR�PH�L]SXVWLOL�LQ�PL�SUHSRYHGDOL�
GD�EL�^H�NGDMNROL�LPHO�RGSUWR�RNQR�

6SRPODGL� OHWD� ����� SD� VR� ELOH� QD�PHMQHP� SUHKRGX� Y� 5RCQL�'ROLQL� CH� QD� YROMR
SRVHEQH�GRYROLOQLFH�]D�SROXUQL�SRJRYRU�V�VYRMFL�QD�PHMQL�aUWL��'RYROMHQMD�MH�L]GDMDOD
1RWUDQMD�XSUDYD��D�YVDN�JD�QL�GRELO�

9�EUHPH�MH�ELO�WXGL�]DNRQ�R�ELYDQMX�Y�REPHMQHP�SDVX��'RPDaLQ�MH�PRUDO�JRVWD�
NL� MH�SUL�QMHP�SUHQRaLO��SULMDYLWL�SULVWRMQL�REODVWL��.D]QL�]D�QHVSR^WRYDQMH�]DNRQD�VR
ELOH� YLVRNH��9� NURQLNL� VDPRVWDQD� QD�.RVWDQMHYLFL� VWRML� ]DSLVDQR�� GD� MH�PRUDO� IUDQ�
aL^NDQVNL�SUHGVWRMQLN�OHWD������YVDN�GDQ�SRURaDWL�QD�PLOLFR���SD�QDM� MH�Y�VDPRVWDQX
NGR�SUHQRaLO�DOL�QH��7D�]DSRYHG�MH�ELOD�XNLQMHQD�����RNWREUD�LVWHJD�OHWD��=D�SUHVHOLWHY
Y�REPHMQH� NUDMH� MH� ELOR� SRWUHEQR� LPHWL� SRVHEQR�GRYROMHQMH��.HU� JD� NXKDULFD� VHVWUD
0DJGD�LQ�RUJDQLVWND�VHVWUD�/MXGPLOD�Y�VDPRVWDQX�QD�.RVWDQMHYLFL�QLVWD�LPHOL��VWD�ELOL
����GHFHPEUD�OHWD������SRNOLFDQL�QD�1RWUDQMR�XSUDYR��AHSUDY�VWD�WDNRM�YORCLOL�SUR^QML
]D�ELYDQMH��VWD�PRUDOL�VHVWUL�]DSXVWLWL�VDPRVWDQ�Y����XUDK�

6DPRVWDQVND�NURQLND�L]�OHWD�������1D�SUR^QMR�VDPRVWDQVNHJD�SUHGVWRMQLND�]�GQH
��� ��� ������ QDM� EL� 1RWUDQMD� XSUDYD� Y� 6RONDQX� SUR^QML� NXKDULFH� LQ� RUJDQLVWNH� KLWUR
UH^LOD��NHU� MX�QXMQR�SRWUHEXMHPR��GUXJLK�SD� WXNDM�QL�PRJRaH�GRELWL�� MH�SUL^HO� ���� ��
QHJDWLYHQ� RGJRYRU� �^WHY�� VOXC��� ,���� �*0�� ]� GQH� ���� ,�� ����� aH^� GD� 5RS� 0DULMD
0DJGDOHQD�LQ�>PRQ�9HURQLND�/MXGPLOD�QD�SRGODJL�8UDGQHJD�OLVWD�^WHY������)/5-�]
GQH��������������SR�aOHQX����LQ����QLPDWD�SUDYLFH�ELYDWL�Y�REPHMQHP�SDVX��1D�SRG�
ODJL� WH� RGORaEH� MH� SUHQHKDOR� VOXCEHQR� UD]PHUMH� GR� NXKDULFH� 5RS�0DULMH�0DJGH� LQ
RUJDQLVWNH�>PRQ�9HURQLNH�/MXGPLOH��=DUDGL�WRaQRVWL�NURQLNH�ERGL�SULSRPQMHQR��GD�MH
NXKDULFD�5RS�0DJGD�SUL^OD�VHP�Y�VOXCER�WRaQR���PHVHF�LQ���GDQ�SUHM��SUHGHQ�MH�ELO
L]GDQ�]DNRQ�R�REPHMQHP�SDVX��NL�MH�VWRSLO�Y�YHOMDYR�^HOH]�GQHP�REMDYH�

'RYROMHQMD�]D�ELYDQMH�Y�VDPRVWDQX�QD�.RVWDQMHYLFL�QLVR�GRELOL�QLWL�QHNDWHUL�SDWUL�
NL� MLK� MH� IUDQaL^NDQVNL� NDSLWHOM� Y� /MXEOMDQL� GRORaLO� VDPRVWDQX� GQH� ���� MXOLMD� �����
6WURJD�SUDYLOD�VR�YHOMDOD� WXGL� ]D�YVH�GRPDaLQH��NL� VR� VOXCLOL� YRMD^NL� URN��RGY]HOL� VR
MLP� GYRODVWQL^ND� GRYROMHQMD� LQ� RE� SULKRGX� QD� GRSXVW� VR� VH� PRUDOL� WDNRM� MDYLWL� SUL�
VWRMQLP�RUJDQRP��3UDY�WDNR�VR�RGY]HOL�GYRODVWQL^ND�GRYROMHQMD�WLVWLP��NL�VR�RG^OL�QD
^RODQMH�Y�GUXJH�NUDMH�

#LYHWL�RE�PHML�QL�ELOR�SULMHWQR��WHVQRER�VR�^H�GRGDWQR�VWRSQMHYDOH�UD]QH�QD�WLKHP
L]UHaHQH�YHVWL��GD�ER�REODVW�YVH� OMXGL� L]�GHVHWNLORPHWUVNHJD�SURVWRUD� L]VHOLOD��=DUDGL
WDNLK�JRYRULF�VR�ELOH�QHNDWHUH�GUXCLQH�SULSUDYOMHQH�]EHCDWL�Y�,WDOLMR��*RYRULFH�SD�QLVR
ELOH�SRYVHP�L]� WUWH�]YLWH��0HMR� MH�REODVW�GHMDQVNR�QDPHUDYDOD�]DSUHWL� LQ� MR�YDURYDWL
SR� UXVNHP� Y]RUX�� =�PLQVNLPL� SROML�� ]� YHGQR� VYHCH� ]RUDQR� ]HPOMR� LQ� V� SUHVHOLWYLMR

���



$&7$�+,675,$(�9,�

$QGUHM�0$/1,A��7232*5$),-$�6320,1$�1$�1292�0(-2���������

YVHK�� NL� ]D� YODGDMRaR� SROLWLNR� QLVR� ELOL� SUHYHa� JRUHaL�� 9� %LOMDK� MH� ELOD� FHOR
SRVWDYOMHQD�NRPLVLMD��NL�ML�MH�ELOD�]DXSDQD�QDORJD��GD�SUHYHUL�YVH�OMXGL��SRVHEHM�WLVWH�Y
VWRPHWUVNHP� REPHMQHP� SDVX�� 7H� QDaUWH� MH� ]DYUOD� LQ� SUHSUHaLOD� UHVROXFLMD� ,QIRUP�
ELURMD�LQ�SURWHVWL�VORYHQVNH�REODVWL�

AHSUDY� MH� ELOD�PHMD� VWURJR� YDURYDQD�� SD� VH� MH� YaDVLK� SULPHULOR�� GD� YRMDNL� SUH�
ELYDOVWYX�QLVR�EUDQLOL�SULVWRSLWL�FHOR�GR�VDPH�PHMQH�aUWH���WDNUDW��NR�VR�OMXGMH�VSRQWDQR
UHDJLUDOL�QD�CDOMLYH�LWDOLMDQVNH�SURYRNDFLMH�]�RQH�VWUDQL��3RJOHMPR�GYD�WDND�GRJRGND�

3ULaHYDQMH�DJHQWD�WDMQH�VOXCEH��1D�ERCLa�OHWD������VR�,WDOLMDQL�Y�EOLCLQL�CHOH]QL^NH
SRVWDMH� Y� 1RYL� *RULFL�� WDP� MH� CLYHOR� SUHFHM� RSWDQWRY�� SRVWDYLOL� ERCLaQR� GUHYR�� QD
NDWHUHP� MH� SLVDOR� �3DFH� DJOL� XRPLQL� �� OLEHUWD� DL� SRSROL�� �0LU� OMXGHP� �� VYRERGR
OMXGVWYRP��RS��DY���3RG�WHP�GUHYHVRP�MH�ELOD�]EUDQD�VNXSLQD�,WDOLMDQRY��NL�GR�QDV�QL
ELOD�ERCLaQR�UD]SRORCHQD��1D�QDV�VR�NULaDOL�LQ�QDV�CDOLOL��NRW�GD�PL�QH�EL�ELOL� OMXGMH�
7DNRM�VR�VH�]EUDOL�WXGL�QD^L�LQ�MLP�QLVR�RVWDOL�GROCQL��YQHO�VH�MH�SUDYL�UDYV��3UHN�CLFH
VR�VH�FXNDOL��SVRYDOL� WHU� WHSOL��9RMDNL�QD^LK� OMXGL�QLVR�RYLUDOL��SXVWLOL� VR� MLK��GD�VR�VL
]RSHU�,WDOLMDQH�GDOL�GX^ND�

%LOL�VR�WR�L]EUXKL�VRYUD^WYD�GR�,WDOLMDQRY���Y�CHOH]QLaDUVNLK�VWDQRYDQMLK�RE�SRVWDML
MH�CLYHOR�YHOLNR�6ORYHQFHY��NL�VR�]DUDGL�VWUDKX�SUHG�LWDOLMDQVNLP�PD^aHYDQMHP�CH�SUHG
SULNOMXaLWYLMR�SULEHCDOL�L]�*RULFH�QD�WR�VWUDQ�

3ULaHYDQMH� L]� 6RONDQD��,WDOLMDQL� VR� QDV� CDOLOL�� ELOR� MH� WR� WDNUDW�� NR� VR� VODYLOL� RE�
OHWQLFR�]PDJH�L]�SUYH�YRMQH��1LVPR�MLP�RVWDOL�GROCQL��.HU�VR�,WDOLMDQL�NULaDOL��0RUWL�GL
IDPH�� �6� WHPL� EHVHGDPL� VR� VH� ,WDOLMDQL� SRVPHKRYDOL� SRPDQMNDQMX� LQ� ]DVUDPRYDOL
OMXGL�� GD� VR� VHVWUDGDQFL�� GREHVHGQR�FUNXMRaL� RG� ODNRWH�� RS�� DY��� MH� ]DaHO� QHNGR� RG
QD^LK�,WDOLMDQH�REPHWDYDWL�V�NOREDVDPL��=DUDGL�WHK�NOREDV�VR�VH�,WDOLMDQL�QD�RQL�VWUDQL
PHG�VHERM�VWHSOL�LQ�VL�MLK�GUXJ�GUXJHPX�SXOLOL�L]�URN��0L�SD�VPR�VH�MLP�VPHMDOL�

7HK�L]SDGRY�MH�ELOR�QDMYHa�WDP��NMHU�MH�PHMD�GREHVHGQR�UD]GHOLOD�*RULFR�QD�GYRMH
LQ�VR�VL�SUHELYDOFL�]�REHK�VWUDQL�PHMH�]UOL�L]�RaL�Y�RaL��9�EOLCLQL�CHOH]QL^NH�SRVWDMH�VR�]
RQH�VWUDQL�NULaDOL�WXGL�WDNUDW��NR�VR�QD^L�YRMDNL�QD�PHML�XELOL�NDNHJD�EHJXQFD��9SLOL�VR
%HOYH��%HOYH���=YHULQH��=YHULQH���RS��DY����1D�^HPSHWUVNHP�PHMQHP�SUHKRGX�SD�VR
QD^L�OMXGMH�NULaDOL�QD�LWDOLMDQVNH�VWUDCDUMH�

6SRPLQL�QD�.12-

=D�YVD�WD�SULaHYDQMD�MH�]QDaLOQR��GD�VH�OMXGMH�QDMYHaNUDW�VSRPLQMDMR�YRMDNRY��NL�VR
aXYDOL�PHMR��.HU�MH�SUDY�]DUDGL�QMLK�ELOR�CLYOMHQMH�RE�PHML�WDN^QR��NDNU^QR�MH�ELOR��LQ
NHU�VR�VH�RG�YVHK��NL�VR�YDURYDOL�PHMR��SUDY�QMLK�QDMEROM�EDOL��,PHOL�VR�RURCMH�LQ�OMXGMH
VR�ELOL�SUHSULaDQL��GD�]HOR�KLWUR�LQ�EUH]�Y]URND�VSURCLMR��AHSUDY�VR�YaDVLK�VWUHOMDOL�WXGL
LWDOLMDQVNL� YRMDNL�� VH� QMLK� QLVR� EDOL�� =QDQ� MH� VWDYHN� WLVWLK� GQL�� NL� QDM� EL� JD� MXJRVOR�
YDQVNL�RILFLUML�YHQRPHU�SRQDYOMDOL�YRMDNRP��3XFDM��SD�L�DNR�WL�PDMND�GRGCH��6WUHOMDM�
SD� aHWXGL� WL� PDWL� SULGH�� 2S�� DY��� 'RPDaLQL� VR� WXGL� YHUMHOL�� GD� YRMDNL� ]D� YVDNHJD
EHJXQFD��CLYHJD�DOL�PUWYHJD��GRELMR�QDJUDGQL�GRSXVW��'D�EL�YRMDNL�ELOL�UHVQLaQR�WDNR
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NUYRORaQL��VH�QH�VWULQMDMR�YVL�
3ULaHYDQMH� DJHQWD� WDMQH� VOXCEH�� AH� EL� ELOR� WR� UHV�� EL� ELO� MD]� CH� GHVHWNDW� PUWHY�

0DUVLNGDM� QD^L� YRMDNL� R� PRMHP� LOHJDOQHP� SUHKRGX� PHMH�� LPHO� VHP� GRORaHQH� WDMQH
VOXCEHQH�QDORJH�� ]DUDGL�PDORPDUQRVWL� RILFLUMHY�QLVR�ELOL� REYH^aHQL�� ,Q� Y� ,WDOLMR� VHP
^HO�YHGQR�SRQRaL��.R�PL�MH�YRMDN�]DSRYHGDO��QDM�PLUXMHP��VHP�VH�SDa�XVWDYLO��2GYHGHO
PH�MH�QD�NDUDYOR�LQ�WDP�VHP�SRWHP�]�RILFLUMHP�XUHGLO�VWYDUL�

=DJRWRYR�SD�VR�VWUDK�SUHG�YRMDNL�PQRCLOH�JRYRULFH��GD�VR�QD�PHML�%RVDQFL�]�QRCL�
>LULOD�MLK�MH�8GED�VDPD��SDa�]�QDPHQRP�VWUD^LWL�,WDOLMDQH��NL�VR�]�%RVDQFL�LPHOL�VODEH
L]NX^QMH�CH�Y�SUYL�VYHWRYQL�YRMQL��9�UHVQLFL�VR�VH�QD^LK�YRMDNRY�EDOL�EROM�QD�RQL�NRW�QD
WHM�VWUDQL��1HNDWHUL�,WDOLMDQL��NL�VR�CLYHOL�Y�EOLCLQL�PHMH��VR�VH�FHOR�L]VHOLOL��$�QD�PHML�VH
MH�YHQGDUOH�GRVWL�VWUHOMDOR��.ROLNR�OMXGL�MH�ELOR�Y�UHVQLFL�XELWLK��QH�YHPR��]DJRWRYR�SD
MH�ELOR�JRYRULF�YHOLNR�YHa�

3ULaHYDQMH�L]�1RYH�*RULFH��1HNHJD�YHaHUD�VR�XELOL�HQHJD�EHJXQFD�QD�QD^HP�YUWX�
1DVOHGQMHJD�GQH��NR�VHP�^OD�Y�WUJRYLQR��VH�MH�JRYRULOR��GD�VR�MLK�XELOL�SHWQDMVW�

9RMDNL�VR�ELOL�WXGL�]HOR�RVRUQL�LQ�QHSULMD]QL�
3ULaHYDQMH�DJHQWD�WDMQH�VOXCEH��3RYHP�WL�OH�WR��GD�MH�ELO�QD�GRORaHQHP�RGVHNX�PHMH

QHN�RILFLU��NL�MH�PDUVLNDWHUR�OHSR�LQ�PODGR�SXQFR��NL�VR�MR�]DMHOL�QD�PHML��SRVLOLO��1HNRa�MH
SRVLOLO�WXGL�QHNR�GRPDaLQNR��QD^R�VRGHODYNR��=DUDGL�WHJD�MH�]DQRVLOD��D�MH�R�YVHP�PRO�
aDOD��1D�SRURGX��NR�MH�ELOD�Y�VPUWQL�DJRQLML��SRWHP�MH�WXGL�XPUOD��SD�MH�SRYHGDOD�YVH�

1DMEROM� VR� VH� MLK� EDOL� WLVWL�� NL� VR� MLK� YLGHYDOL� QD� GDOHa�� 7LVWL�� NL� VR� CLYHOL� Y� VWR�
PHWUVNHP�SDVX�� LQ�RQL�� SUL�NDWHULK� VR�Y�KL^L�� GRNOHU�QLVR�ELOH� ]JUDMHQH�YVH�SRWUHEQH
NDUDYOH�� ELYDOL� VWUDCDUML�� QLVR� LPHOL� WDN^QHJD� VWUDKX�� =� YRMDNL� VR� VH� SDa� SR]QDOL
RVHEQR��GR�QMLK�VR�ELOL�YRMDNL�PDQM�QDSHWL�LQ�EROM�UD]XPHYDMRaL��9VHHQR�VH�]�QMLPL�QL
ELOR�GREUR�SUHSLUDWL��6LFHU�SD�YRMDNL�^NRGH�QD�NPHWLMVNLK�SRYU^LQDK�QLVR�GHODOL�� WXGL
NDNH�GUXJH�PDWHULDOQH�^NRGH�QH�

'RPDaLQL�VR�YRMDNRP�PRaQR�]DPHULOL��NHU�QLVR�REYODGDOL�VORYHQVNHJD� MH]LND��NDU
MH�ODKNR�ELO�Y]URN�QHSUHGYLGOMLYLP�]DSOHWRP��3UYL��NL�QDM�EL�QD�WD�SUREOHP�RSR]RULO��MH
ELO�0LOH�9LCLQWLQ�QD�RNUDMQL�VNXS^aLQL��=DUDGL�WHJD�MH�LPHO�NDVQHMH�QHNDM� WHCDY��,]�QH�
SLVPHQLK�YRMDNRY�SD�VR�VH�GRPDaLQL�QRUaHYDOL�WDNR��GD�VR�MLP�SUL�OHJLWLPLUDQMX�ND]DOL
QDUREH�REUQMHQH�GRYROLOQLFH��9RMDNL� VR�ELOL�GUXJH�NXOWXUH� LQ�GUXJDaQLK� QDYDG�� LGHR�
OR^NR�]HOR�QDYLWL��XND]H�VR�VOHSR� L]SROQMHYDOL��NHU�VR�VH�EDOL��GD�EL� MLK�SUHPHVWLOL�GUX�
JDP��3RVHEHM�]DWR��NHU� MH�ELOR� WX�VOXCHQMH�YRMD^aLQH�Y�SULPHUMDYL�]�Y]KRGQLPL� LQ� MXC�
QLPL� MXJRVORYDQVNLPL�PHMDPL�GRNDM� ODJRGQR� LQ�PDQM�QHYDUQR��'R�GRPDaLQRY�VR�ELOL
QH]DXSOMLYL��=DXSDOL�QLVR�QLWL�PLOLaQLNRP�� WL�FHOR�QMLKRYLK�VWUDCDUVNLK�VWH]�QLVR�VPHOL
XSRUDEOMDWL��$JHQWH�WDMQH�SROLFLMH��NL�VR�VH�]DUDGL�VOXCEHQLK�GROCQRVWL�JLEDOL�RE�PHML�DOL
RGKDMDOL�LOHJDOQR�Y�,WDOLMR��VR�YRMDNRP�SUHGVWDYLOL�Y�FLYLOQL�REOHNL�LQ�Y�XQLIRUPL�

1D�WR��GD�EL�ELOL�YRMDNL�GR�GRPDaHJD�SUHELYDOVWYD�EROM�aORYH^NL��MH�VNX^DOD�YSOLYDWL
ORNDOQD� REODVW� LQ� WXGL�8GED��0RCMH� WDMQH� SROLFLMH� VR� ELOL� 6ORYHQFL�� OMXGL� RE�PHML�� V
NDWHULPL�YHaMLK�SUREOHPRY�QLVR� LPHOL�� VR�GREUR�SR]QDOL��3R]QDOL� VR� ]JRGRYLQR� WHJD
SURVWRUD� LQ� YHGHOL� VR�� GD�PHMH� QL� PRa� XVSH^QR� QDG]RURYDWL�� aH� VR� GRPDaLQL� QH]D�
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GRYROMQL��$�NOMXE�YVHPX�VH�RGQRV�YRMDNRY�QL�VSUHPHQLO��1HNROLNR�QD�EROMH�QDM�EL�VH
VSUHPHQLOR�^HOH�SRWHP��NR�MH�VODE�RGQRV�YRMDNRY�L]NXVLO�VDP�]YH]QL�QRWUDQML�PLQLVWHU
%RULV�.UDLJHU��0LQLVWHU�VH� MH�NOMXE�QDVSURWRYDQMX�SRGUHMHQLK�VDP�RGSUDYLO�QD�RJOHG
PHMH� Y�%UGD��2� QMHJRYHP� SULKRGX� VR� ELOL� REYH^aHQL� RILFLUML�� D� QH� YVL� VWUDCDUML�� 1D
FHVWL�Y�EOLCLQL�PHMH�QD�*ROHP�%UGX�JD� MH�XVWDYLO�YRMDN��PRUDO� MH� L]VWRSLWL� L]�DYWD� LQ
NOMXE�SRMDVQLORP��GD�MH�SDa�PLQLVWHU��VOHGLWL�YRMDNX�GR�NDUDYOH��9RMDN�QDM�EL�RILFLUMX
GREHVHGQR�SRURaDO�WDNR�

3ULaHYDQMH�DJHQWD�WDMQH�VOXCEH��'R^DR�QHNL�PDOL�NXUDF��NRML�NDCH��GD�MH�PLQLVWDU�
$�MD�PX�QH�YMHUXMHP���3UL^HO�MH�QHNL�PDMKHQ�NXUF��NL�SUDYL��GD�MH�PLQLVWHU��$�MD]�PX�QH
YHUMDPHP��2S��DY��

0LOLaQLNL�LQ�WDMQH�VOXCEH

=�PLOLaQLNL�VR� LPHOL� OMXGMH�RSUDYND�SUHGYVHP�QD�GYRODVWQL^NLK�PHMQLK�SUHKRGLK�
%LOL� VR� VWURJL�� D� VWUDKX�� YVDM� WDN^QHJD� NRW� SUHG� YRMDNL�� QLVR� LPHOL�� VSRPLQ� QDQMH� MH
SUHFHM�PHGHO��'RVWL� EROM� SD� VH� GRPDaLQL� VSRPLQMDMR� DJHQWRY� WDMQH� SROLFLMH�� NHU� VR
VWDOQR�SRL]YHGRYDOL�R�WHP�LQ�RQHP�LQ�LVNDOL�PHG�QMLPL�VRGHODYFH��1DYGX^HQMD�]D�GUX�
CHQMH�]�QMLPL�QL�ELOR��D�SUHM�NRW�R� VWUDKX�PRUHPR� WX�JRYRULWL�R�QHODJRGMX� LQ� WHVQREL�
1DUDYD� WDNUDWQHJD� SROLWLaQHJD� VLVWHPD� MH� ELOD� WDND�� GD� VR� OMXGMH� YHGHOL�� GD� QL� GREUR
SRYVHP� VYRERGQR� JRYRULWL�� .ROLNR� OMXGL� MH� ELOR� QMLKRYLK� VRGHODYFHY�� QH� YHPR�
9]URNRY��]DNDM�MH�aORYHN�WDMQL�SROLFLML�SRPDJDO��MH�YHa���]DUDGL�SUHSULaDQMD��SULVLOH�DOL�L]
NRULVWROMXEMD�

3ULaHYDQMH�DJHQWD�WDMQH�VOXCEH��7LVWL��NL�VR�CLYHOL�QD�PHML��VR�KRWHOL�LPHWL�SUHG�QDPL
LQ� SUHG� .QRMHP� PLU�� 1LVR� VH� KRWHOL� YSOHWDWL�� 5HNOL� VR� QDP�� �aH� ERPR� YLGHOL� NDM
VXPOMLYHJD��ERPR�SUL^OL�SRYHGDW��VRGHORYDOL�SD�QH�ERPR���%LOL�VR�WDNL��NL�VR�SRPDJDOL
L]�]DYHGQRVWL��LQ�WDNL��NL�VR�RG�QDV�SRWHP�WHUMDOL�GRORaHQH�XVOXJH��1DM�MLP�SULVNUELPR
PRGUR�JDOLFR��QD�SULPHU�

2GQRV�PHG�GRPDaLQL� LQ� WDMQR� VOXCER� MH� ELO� RGQRV�PHG� SRVDPH]QLNRP� LQ� GROR�
aHQLP�DJHQWRP��=DUDGL�WHJD�MH�ELOR�]HOR�SRPHPEQR��NDN^HQ�MH�ELO�DJHQW�NRW�aORYHN�
/MXGMH�� NL� VR� LPHOL� ]� QMLPL� RSUDYND�� MLK� ]DWR� ^H� GDQHV� VRGLMR� SUHGYVHP� JOHGH� QML�
KRYHJD�]QDaDMD��aHSUDY�8GED�PHG�OMXGPL�QL�ELOD�GREUR�]DSLVDQD�

&DULQD�LQ�PDOL�WLKRWDSFL

&DULQLNL� VR� ELOL� QDMEROM� RVRYUDCHQD� VNXSLQD� OMXGL�� NHU� VR� ELOL� RVRUQL� LQ� VR� VWURJR
SUHJOHGRYDOL� OMXGL�� SRVHEHM� GYRODVWQLNH�� =DUDGL� VSOR^QHJD� SRPDQMNDQMD� VR� VNX^DOL
GYRODVWQLNL� L]� ,WDOLMH�SUHWLKRWDSLWL�NDN^QR�PDOHQNRVW� L]NOMXaQR� ]D�RVHEQR� UDER��3UHG�
YVHP�KUDQR��]GUDYLOD��EODJR�]D�REOHNH�LQ�UD]QH�UH]HUYQH�GHOH��1D�PHVWLK��NMHU�VR�VH�OMX�
GMH�ODKNR�PHML�GRNDM�SULEOLCDOL��VR�MLP�VYRMFL�]�RQH�VWUDQL�PHWDOL�UHaL�SUHN�CLFH��9VHOHM
MLP�QL�XVSHOR��NHU�VR�MLK�SUHJQDOL�YRMDNL��9aDVLK�VR�WXGL�VDPL�QD�VNULYDM�SUHaNDOL�PHMR�
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6NULYDOL�VR�QD�VHEL��Y�RNYLUMH�NROHV�LQ�Y�YRORYVNH�NDPEH�VR�VWUHVDOL�NDYR�LQ�ULC��1D
YR]RYLK� VR� L]GROEOL� PDQM^H� YRWOLQH�� 6NULYDOL� VR� Y� JQRM�� Y� VHQR�� L]GROEOL� FYHWDaR�
QDUHGLOL�GYRMQD�GQD�Y�VWHNOHQLFDK�LQ�Y�VRGLK��GHQDU�VR�VNULYDOL�SRG�SOD^aH�NROHV��Y�OXaL
LQ�SRG�VHGOD�

1D�PHMQHP�SUHKRGX�VR�ELOL�OMXGMH�SULaD�^WHYLOQLP�PDMKQLP�RVHEQLP�WUDJHGLMDP��
NR�MH�FDULQLN�RGY]HO�VODGNRU��V�NDWHULP�MH�KRWHO�VLQ�VODGNDWL�NRPSRW�EROQL�PDWHUL��NR
VR�RGY]HOL�PDWHUL�]GUDYLOD�]D�RWURNH��NR�VH�MH�Y�YURaLQL�CHQVNL�VWRSLOR�QD�KUEWX�VNULWR
PDVOR��NR�PRCDNDU�GRPD�QL�YHa�QD^HO�PLOD��NL�JD� MH�ELO� VNULO�Y�JQRM�� LQ� ^H�EL� ODKNR
QD^WHYDOL��3RVHEHM�VR�ELOH�GR�OMXGL�RVWUH�CHQVNH��=DWR�VR�GRPDaLQNH�SD]LOH��GD�VR�PHMR
SUHaNDOH�WDNUDW��NR�MLK�QL�ELOR��=�PR^NLPL�MH�ELOR�ODCMH��SD� WXGL�RVHEQL�SUHJOHG�QL�ELO
PRJRa�� %LOR� MH� WXGL� YHOLNR� ^LNDQ�� D� WHK� OMXGMH� QLVR� SULMDYOMDOL�� %DOL� VR� VH�� GD� ERGR
L]JXELOL�GYRODVWQL^NR�GRYROMHQMH��NL�MH�WDNUDW�SRPHQLOR�YHOLNR�XJRGQRVW�

7LKRWDSLOL� VR� WXGL� Y� ,WDOLMR�� FLJDUHWH�� CJDQMH� LQ�� ]DUDGL� QL]NLK� FHQ� WHU� REYH]QH
RGGDMH��PHVR��9�0LUQX�� QD� SULPHU�� VR� SUHUH]DOL� ]UDaQLFH� WRYRUQMDND�� MLK� QDEDVDOL� ]
UD]OLaQLP�EODJRP��]DOHSLOL�LQ�MLK�VSXVWLOL�SR�9LSDYL�Y�,WDOLMR��NMHU�MH�Y�5XSL�QHNGR�WH
]UDaQLFH�SUHVWUHJHO�

=� GUREQLP� WLKRWDSVWYRP� VR� VH� EDYLOL� FHOR� YRMDNL�� ]� LWDOLMDQVNLPL� NROHJL� VR� VL
L]PHQMHYDOL�FLJDUHWH��PLOR��YLQR��CJDQMH��XUH�LQ�SRGREQH�VWYDUL�

'YRODVWQLNL�LQ�YHaML�WLKRWDSFL

'YRODVWQLNL�VR�ELOL�QDMEROM�QDG]RURYDQD�VNXSLQD�OMXGL��WDNR�V�VWUDQL�MXJRVORYDQVNH
NRW� WXGL� LWDOLMDQVNH� REODVWL��1D� GYRODVWQL^NLK� GRYROLOQLFDK� MH� ELOD� QDWDQNR� R]QDaHQD
QDMNUDM^D�SRW�RG�GRPD�GR�QMLKRYH�]HPOMH�Y�,WDOLML��,WL�Y�*RULFR�DOL�SD�Y�EOLCQMH�YDVL�MH
ELOR�SUHSRYHGDQR�,WDOLMDQVNL�SROLFDML� VR�QDMODCMH�VSR]QDOL�QD^H� OMXGL�SR�aHYOMLK� LQ�SR
UHJLVWUVNLK�WDEOLFDK�QD�NROHVLK��=DWR�VR�OH�WH��aH�VR�CH�^OL�Y�*RULFR��VNULYDOL�V�WRUEDPL�
7RGD�QDG]RU�Y�,WDOLML�MH�LPHOD�WXGL�QD^D�WDMQD�SROLFLMD�

3ULaHYDQMH� L]�9UWRMEH��1HNRa�VR�QHNR�CHQVNR�SRNOLFDOL�QD�VRGL^aH��NHU�QDM�EL�NRW
GYRODVWQLFD� ELOD� Y� *RULFL�� #HQVND� MH� YVH� ]DQLNDOD�� SRWHP� SD� ML� MH� VRGQLN� SRND]DO
IRWRJUDILMR�� QD� NDWHUL� MH� ELOD� VOLNDQD� Y� 5D^WHOX� �WUJRYVNL� SUHGHO� *RULFH�� RS�� DY���
=DJRWRYR�MR�MH�VOLNDOD�8GED��NGR�GUXJ�

'YRODVWQLNL� VR� PHMR� ODKNR� SUHVWRSLOL� OH� HQNUDW� GQHYQR� LQ� SUHKRG� MH� ELO� RGSUW
SUDYLORPD�RG�]RUH�GR�QRaL��SDa�JOHGH�QD�OHWQH�aDVH�LQ�NPHaND�RSUDYLOD��3ROHWL�RG���
XUH�GR�����XUH��1DG]RU� MH� ELO� VWURJ�� FDULQLNL� VR� YHGQR�SRSLVDOL� YVH� RURGMH�� NL� VR� JD
LPHOL� V� VHERM�� AH� VR� NPHWMH� GRPRY� YR]LOL� VHQR� DOL� GUXJH� SULGHONH�� VR� YHV� WRYRU
SUHERGOL�]�GROJLPL�CHOH]QLPL�SDOLFDPL��9aDVLK�VR�NPHWD�VSUHPLOL�GRPRY�NQRMHYFL�LQ
QDG]RURYDOL�VSUDYLOR�VHQD�

0HG� GYRODVWQLNL� LQ� PHG� WLVWLPL�� NL� VR� VH� ODKNR� JLEDOL� Y� REPHMQHP� SDVX�� VR� VH
QRYDaLOL��UHVGD�UHGNL��D�SUDYL�WLKRWDSFL��7RYRULOL�VR�]ODWR��VUHEUR��YUHGQH�SUHGPHWH�LQ
SRPDJDOL� VR�SUL�EHJX��=DUDGL� VOHGQMHJD�VR�ELOL� REODVWL� ^H�SRVHEHM�QHYDUQL��'RVWLNUDW
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MLP� MH�8GED�SUL^OD�QD�VOHG�SUDY�]DWR��NHU� VR� VRGHORYDOL� V� WXMLPL� WDMQLPL� VOXCEDPL� LQ
HPLJUDQWVNLPL�RUJDQL]DFLMDPL��NL�VR�SULSUDYOMDOH�EHJ�OMXGL�LQ�QMLKRYHJD�SUHPRCHQMD�

3ULaHYDQMH�DJHQWD�WDMQH�SROLFLMH��%LO�MH�QHNGR��GYRODVWQLN��NL� MH�SUHN�PHMH�QDMSUHM
SULQHVHO�SRSHU�Y�]UQLK��1DMSUHM�JD�MH�VNULO�Y�REPHMQHP�SDVX��SRWHP�VH�MH�YUQLO�LQ�WDP
QDELUDO�EULQMH��.R�JD�MH�YRMDN�YSUD^DO��NDM�GHOD��MH�RGYUQLO��GD�EHUH�EULQMH�]D�NRNR^L�
GD�ERGR�EROMH�QRVLOD�MDMFD��.R�MH�YRMDN�RG^HO��MH�Y]HO�VNULWR�YUHaR�V�SRSURP�LQ�VH�YUQLO
GRPRY��3RSHU�MH�RGQHVHO�SRWHP�Y�/MXEOMDQR��NMHU�JD� MH�QD�VNULYDM�SURGDO�PHVDUMHP�
=DVOXCLO� MH� GREUR�� =D� L]WUCHQL� GHQDU� MH� QDWR� NXSLO� IRWRDSDUDWH� /DLND�� NL� MLK� MH� SUH�
WLKRWDSLO�Y�7UCLa� LQ�SURGDO� ]D�GREHU�GHQDU��=�QMLP� MH�Y� ,WDOLML� NXSLO� WUHQaH� LQ�SOD^aH
^X^NDYFH��7R�MH�SULQHVHO�QD]DM�LQ�RG^HO�SRQRYQR�Y�/MXEOMDQR��NMHU�MH�]RSHW�YVH�GREUR
SURGDO��1D�VOHG�SD�VPR�PX�SUL^OL�WDNUDW��NR�MH�]DaHO�WLKRWDSLWL�OMXGL�

9�0LUQX�MH�ELO�QHNGR��NL�MH�WLKRWDSLO�OMXGL�QD�YR]X�Y�ORGULFL��VRGX�]D�JQRM��GUXJL�SD
Y�VRGLK�]D�YLQR��7LKRWDSFL�VR�LPHOL�WXGL�SRVHEHM�GUHVLUDQH�SVH��GD�VR�]�QMLPL�SUHYHULOL�
aH�VR�YRMDNL�Y�EOLCLQL��'RPDaL� WLKRWDSFL�SD�VR�YaDVLK� ]�EODJRVORYRP�8GEH�GREDYLOL
UD]QH�UHaL�WXGL�]D�ORNDOQR�REODVW�VDPR��QD�SULPHU�SLVDOQH�VWURMH�LQ�UD]QH�UH]HUYQH�GHOH
]D�DYWH�LQ�DYWREXVH�

%HJ�SUHN�PHMH�LQ�EHJXQFL

'RPDaLQL�VR�PHMR�VHP�WHU�WMD�QD�VNULYDM�SUHNRUDaLOL�]DUDGL�RVHEQLK�SUREOHPRY�DOL
NRULVWL�� =D� SUDYL� EHJ� VR� VH� QDMUDMH� RGORaLOL� PODGL� IDQWMH�� aHVWR� L]� VWUDKX� SUHG� GRO�
JROHWQLP�VOXCHQMHP�YRMD^aLQH��%HJ�MLP�MH�VNRUDM�YHGQR�XVSHO��NHU�VR�PHMR�LQ�QDYDGH
YRMDNRY� GREUR� SR]QDOL�� 6YRMFL�� NL� VR� RVWDOL� GRPD�� VR� LPHOL� ]DUDGL� QMLKRYHJD� EHJD
VLWQRVWL��0LOLaQLNL�VR��NMHU�MH�ELOR�WR�PRJRaH��]DSHaDWLOL�VRER��Y�NDWHUL�MH�VSDO��DOL�FHOR
QMHJRYR�RPDUR�� LQ�8GED� MH� QDWDQNR� L]SUD^DOD� GUXCLQR��%HCDOL� VR� WXGL� WLVWL�� NL� VR� QD
PHML�GHODOL��QDMYHaNUDW�FDULQLNL��AH�VR�ELOL�SR�URGX�L]�GDOMQLK�NUDMHY�GUCDYH��MH�QMLKRYR
SRUHNOR�8GED� VNUEQR� QDG]RURYDOD�� 2EVWDMDO� MH� SRVHEHQ� VH]QDP� OMXGL�� NL� MLK� MH� ELOD
PLOLFD�RE�SUHVWRSX�PHMH�GROCQD�QDG]RURYDWL�

3UDYL�EHJXQFL�Y�,WDOLMR�VR�SULKDMDOL�RG�GUXJRG��WDMQD�SROLFDMD�MLK�MH�WDNR�GHOLOD�
3ULaHYDQMH�DJHQWD�WDMQH�VOXCEH��7R�VR�ELOL�VRURGQLNL�NRODERUDFLRQLVWRY��WLVWL��NL�VH

QLVR�VSULMD]QLOL�V�SROLWLaQLP�VLVWHPRP��HNRQRPVND�HPLJUDFLMD��]DUDGL�SUHSULaDQMD��GD
VH�QD�]DKRGX�FHGLWD�PHG�LQ�POHNR��DYDQWXULVWL��LQIRUPELURMHYFL�LQ�NULPLQDOFL�

%HCDOL� VR� WXGL� N� QDP�� 6ORYHQFL� LQ� ,WDOLMDQL�� 9� OHWLK� ���������� MH� PHMR� QD� *R�
UL^NHP� LOHJDOQR� SUHVWRSLOR� WLVRaH� ,WDOLMDQRY�� ELY^L� JDULEDOGLQFL� LQ� EUH]SRVHOQL�� NL� VR
SUL^OL�N�QDP�LVNDW�GHOR��=D�WH� OMXGL� MH�REVWDMDO�]ELUQL�FHQWHU�Y�>HPSHWUX�� WDP��NMHU� MH
GDQHV�SRGMHWMH�.XULYR��9VH�MH�QDMSUHM�L]SUD^DOD�8GED��NHU�VR�VH�EDOL�LQILOWUDFLMH�WXMLK
DJHQWRY��SD�WXGL�]DWR��NHU�VR�PHG�QMLPL�QRYDaLOL�QRYH�VRGHODYFH�

3ULaHYDQMH� L]�6RONDQD��/HWD������VHP�VH�YUQLOD�QD]DM�GRPRY� L]� ,WDOLMH�� aH]�PHMR
VHP�XWHNOD��ELOR�PH�MH�PDOR�VWUDK��GD�PH�ERGR�QD�PHML�XELOL��3UL�EHJX�VR�PL�SRPD�
JDOH� SULMDWHOMLFH�� aH]� VHP� ^OD� QD� 5DIXWX� �3ULVWDYD�� RS�� DY���� 1D� PHML� PH� MH� XVWDYLO
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YRMDN� LQ�PH�MH�SHOMDO�QD�NDUDYOR��SRWHP�SD�^H�QD�8GER��9�VREL��NMHU� VHP�aDNDOD�QD
]DVOL^DQMH��VHP�YLGHOD�QHNHJD�,WDOLMDQD��NL�VR�JD�WXGL�XMHOL��SLVDO�MH�VYRM�CLYOMHQMHSLV�

1HNDWHUL� RG� QMLK� VR� VH� NDVQHMH� YUQLOL� Y� ,WDOLMR�� GUXJL� SD� VR� GRELOL� GHOR� SR� YVHM
-XJRVODYLML�� %LOL� VR� SRNOLFQR� L]REUDCHQL� OMXGMH�� NRYLQRVWUXJDUML� LQ� PHKDQLNL�� WDNLK
SRNOLFHY�MH�SUL�QDV�SULPDQMNRYDOR�

0HMR� VR� Y� REHK� VPHUHK� SUHaNDOL� WXGL� DJHQWL� WXMLK� WDMQLK� VOXCE�� QHNDWHUL� XMHWL
LOHJDOFL� VR� LPHOL� SUL� VHEL� L]MHPQR� WRaQH� QDaUWH� ]� YULVDQLPL� VWDYEDPL� LQ� YUWRYL� Y
REPHMQHP�SDVX�

AH]� PHMR� VH� MH� EHCDOR� SRYVRG�� NHU� MH� ELOD� PHMD� RG� 0LUQD� GR� 6RONDQD� NOMXE
VWURJHPX�QDG]RUX� SRVHEQR�SRQRaL� ^H� YHGQR� ODKNR� SUHKRGQD��1DMYHa� LOHJDOQLK� SUH�
VWRSRY�MH�ELOR�Y�EOLCLQL�PLUHQVNHJD�SRNRSDOL^aD��WDP��NMHU�VH�PLUHQVNR�SROMH�SUHYHVL�Y
.UDV��Y�5RCQL�'ROLQL��QD�3ULVWDYL�Y�EOLCLQL�SUHGRUD��QD�.RVWDQMHYLFL��PHG� OLYDUQR� LQ
DSQHQLFR�Y�6RONDQX�LQ�RE�6RaL��'RNOHU�QLVR�]DPUHCLOL�RGWRaQHJD�NDQDOD�EOL]X�CHOH]�
QL^NHJD�PRVWD� SROHJ� OLYDUQH� Y�6RONDQX�� VR� EHCDOL� WXGL� VNR]HQM�� 6NDNDOL� VR� ]� YODND�
SRVHEQR� SUHG� 6RONDQVNLP�PRVWRP�� NHU� MH�PRUDO� VWURMHYRGMD� ]DUDGL� SR^NRGRYDQHJD
PRVWX�]PDQM^DWL�KLWURVW�QD���NP�K��=�YODND�VR�VNDNDOL�WXGL�Y�5RCQL�'ROLQL��aHSUDY�MH
ELOD�KLWURVW�YODND�WX�CH�YHaMD��9HOLNR�WHK�EHJXQFHY�VH�MH�]DWR�SR^NRGRYDOR�LQ�SRUH]DOR
QD�CHOH]QL^NLK�CLFDK��NL�VR�ELOH�VSHOMDQH�RE�WLULK�

1DMYHaNUDW� VH� MH� VWUHOMDOR� LQ� QDMYHa� OMXGL� MH� ELOR� XELWLK� WDNUDW�� NR� VR� VH� NQRMHYFL
VSRSDGOL�]�RERURCHQLPL�VNXSLQDPL�SUL�QMLKRYHP�LOHJDOQHP�SUHaNDQMX�PHMH��7R�VR�ELOL
aODQL�UD]QLK�WXMLK�WDMQLK�VOXCE��ELY^L�aHWQLNL��XVWD^L��GRPREUDQFL�LQ�QMLKRYL�VYRMFL��NL�VH
RE�NRQFX�YRMQH�QLVR�XVSHOL�XPDNQLWL�L]�GUCDYH�DOL�SD�VR�SUHNR�PHMH�WLKRWDSLOL� ODVWQR
SUHPRCHQMH�

3ULaHYDQMH� L]� 1RYH� *RULFH��3RQRaL� VHP� VH� YUDaDO� V� SUHJOHGD� WLURY� QD]DM� QD
SRVWDMR��1DHQNUDW�VH�MH�Y�EOLCLQL�YR]RYQH�GHODYQLFH�YQHO�VSRSDG��VWUHOMDOR�VH�MH�]�YVHK
VWUDQL��YUJHO�VHP�VH�SRWOHK��%LOD�MH�WR�SUDYD�PDOD�YRMQD��.QRMHYFL�QLVR�LPHOL�CUWHY��NHU
VR�ELOL�Y�URYLK��PHG�EHJXQFL�SD�MLK�MH�QHNDM�SDGOR��7LVWH��NL�MLP�MH�XVSHOR�]EHCDWL��MH�QD
RQL�VWUDQL�aDNDOD�YUVWD�DYWRPRELORY�]�]DSUWLPL�OXaPL�

7XMFHY��NL� VR�EHCDOL� SUHNR�� VR� VH�GRPDaLQL�EDOL�� QDMEROM�SD� OMXGMH��NL� VR� CLYHOL�Y
VWRPHWUVNHP�REPHMQHP�SDVX��VDM�VR�QHNDWHUL�ELOL�QHYDUQL��RERURCHQL�LQ�SUHG�QMLPL�MH
OMXGL� VWUD^LOD� ^H� REODVW�� %HJXQFL� LQ� SUHELYDOFL� VR� VH� L]RJLEDOL� GUXJ� GUXJHJD�� >H
QDMYHaNUDW� VR� MLK� GRPDaLQL� ]JROM� VOL^DOL� DOL� YLGHOL�PUWYH�%HJXQFH� VR� UD]OLaQR� VRGLOL�
1HNDWHULP� VR� VH� VPLOL�� aH^�� ]DNDM� MLK� QH� SXVWLMR� RGLWL�� ]DNDM� MLK� XELMDMR�� aH� QRaHMR
CLYHWL�SUL�QDV��'UXJL�SD�VR�MLK�REVRMDOL�

3ULaHYDQMH�L]�>HPSHWUD��1D^D�^WDOD�MH�VWDOD�SUDY�QD�VDPL�PHML��PRM�EUDW�VL�SRQRaL
QL� XSDO� YDQMR�� 1LNROL� QLVL� YHGHO�� NRJD� ODKNR� WDP� VUHaD^�� 1L� VH� EDO� QD^LK� YRMDNRY�
DPSDN�WLVWLK��NL�VR�EHCDOL�aH]�

%HJXQFHP�GRPDaLQL�QLVR�QLNROL�SRPDJDOL��QLWL� UDQMHQLP��%DOL� VR� VH��GD� MH� ODKNR
EHJXQHF�SULNULW�DJHQW��NL�VNX^D�ORMDOQRVW�SUHELYDOFHY��.R�VH�MH�]DaHOR�VWUHOMDQMH��VR�VH
GRPDaLQL�GR�MXWUD�]DSUOL�Y�KL^H��0DUVLNGDM�VR�SRQRaL�VOL^DOL�VWRNDQMH�LQ�MRN�WHU�SUR^QMH
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,WDOLMDQVND�UDJOHGQLFD��YHUMHWQR�L]�]DaHWND�SHWGHVHWLK�OHW��ODVW�*RUL^NHJD�PX]HMD�
5D]JOHGQLFD�SULND]XMH�PHGQDURGQL�PHMQL�SUHKRG�5GHaD�KL^D�Y�5RCQL�'ROLQL��JOHGDQR

]�LWDOLMDQVNH�VWUDQL��Y�RVSUHGMX�VWD�LWDOLMDQVND�REPHMQD�VWUDCDUMD�RE�VSX^aHQLK
]DSRUQLFDK��=DSRUQLFH�VR�VSX^aHQH�WXGL�QD�MXJRVORYDQVNL�VWUDQL�

UDQMHQLK� LQ� XPLUDMRaLK�� GUXJHJD� GQH� VR� YLGHYDOL� ]JROM� NUYDYH� VOHGL�� 2� WHK� VWYDUHK
VWDUHM^L�QLVR�UDGL�JRYRULOL��SRVHEHM�RWURNRP�VR�SUHWLOL��QDM�PROaLMR��0UWYH�VR�YLGHYDOL
WXGL�Y�>HPSHWUX��NR�MLK�MH�QHNL�GRPDaLQ�RE�]RUL�YR]LO�QD�SRNRSDOL^aH��%LOL�VR�SRNULWL�
NGDM�SD�MH�]�YR]D�ELQJOMDOD�QRJD�DOL�URND�

.MH� YVH� VR� XELWH� ]DJUHEOL�� QL� SRYVHP� MDVQR�� 9�0LUQX� QDM� EL� MLK� SRNRSDYDOL� QD
ELOMHQVNHP� SRNRSDOL^aX� DOL� ]D� QMLP�� Y� >HPSHWUX� QD� ^HPSHWHUVNHP� SRNRSDOL^aX�� Y
6RONDQX�SD� QD� VWDUHP�YRMD^NHP�SRNRSDOL^aX� RE� 6RaL�� /DKNR� SD� NDU� QD� OLFX�PHVWD�
QDMUDMH�WDP��NDPRU�QL�LPHO�QLKaH�GRVWRSD��7L�JURERYL�QDM�EL�ELOL�QD�.RVWDQMHYLFL��QD
3ULVWDYL��QD�SURVWRUX�VHGDQMHJD�FHVWQHJD�URQGRMD�Y�5RCQL�'ROLQL��Y�>HPSHWUX�SD�WDP�
NMHU�GDQHV�Y�EOLCLQL�PHMH�VWRMLMR�QRYH�KL^H�

=DNOMXaNL

3UYLa��]D�6ORYHQFH� MH�ELOD�QRYD�PHMD�PHG� -XJRVODYLMR� LQ� ,WDOLMR� L]� ]JRGRYLQVNLK
UD]ORJRY�NULYLaQD��'UXJLa��SUL]DGHOD�MH�YVDNHJD�SRVDPH]QLND�SRVHEHM��NHU�MH�SRYVHP
VSUHPHQLOD�YVDNGDQML�QDaLQ�CLYOMHQMD�QD�SURVWRUX�*RULFH��7UHWMLa��QL�ORaHYDOD�OH�GYHK
GUCDY��DPSDN�GYD�SRYVHP�UD]OLaQD�SROLWLaQD�VYHWRYD��AHWUWLa��]DUDGL� MXJRVORYDQVNLK
QRWUDQMLK�SROLWLaQLK�RNROL^aLQ�MH�ELOR�CLYOMHQMH�RE�PHML�VSROLWL]LUDQR�GR�DEVXUGD��7X�VH
QL�aXYDOD�OH�QDURGRYD�VDPRVWRMQRVW��DPSDN�WXGL�]YUVW�SROLWLaQH�REODVWL��3HWLa��YRMDNL
L]� MXCQLK� MXJRVORYDQVNLK� UHSXEOLN�� NL� VR� YDURYDOL�PHMR�� VR� ELOL� SR� NXOWXUL�� MH]LNX� LQ
QDYDGDK�GHGLaL�SRYVHP�GUXJDaQHJD�L]URaLOD�NRW�GRPDaLQL�
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=DUDGL� YVHJD� QDYHGHQHJD� MH� ELOD�PHMD� YHOLNR� YHa� NRW� ]JROM� aUWD� ORaQLFD�� ELOD� MH
SURVWRU�� NL� MH� WHUMDO� QRY� LQ� SRVHEHQ� QDaLQ� UDYQDQMD� OMXGL�� =D� GRPDaLQH� MH� SRPHQLOD
SUDYL�NXOWXUQL�^RN��]DWR�JD�OMXGHP�QL�ELOR�PRa�GRCLYHWL�LQ�VSR]QDWL�WHNRP�HQHJD�GQH�
DPSDN�Y�GDOM^HP�aDVRYQHP�REGREMX�

7+(�7232*5$3+<�2)�0(025<�2)�7+(�1(:�%25'(5/,1(

$QGUHM�0$/1,A
*RULFD�0XVHXP��6,������1RYD�*RULFD��*UDG�.URPEHUN��*UDMVND��

6800$5<
7KH� HVVD\� VSHDNV� DERXW� WKH� ZD\� WKH� SHRSOH� RI� WKH� VXEXUEDQ� YLOODJHV� DURXQG

*RULFD��IURP�0LUHQ�WR�6RONDQ��H[SHULHQFHG�WKH�QHZ�ERUGHU�EHWZHHQ�<XJRVODYLD�DQG
,WDO\�IURP������WR������

7KH� UHVHDUFK� LV� EDVHG� RQ� SHUVRQDO� WHVWLPRQLHV� RI� WKH� SHRSOH� ZKR� OLYHG� DQG
ZRUNHG� WKHUH� DW� WKDW� WLPH�� 7KH� QHZ� ERUGHU� IRU� WKH� 6ORYHQLDQV� ZDV� QRW� RQO\� XQIDLU
EHFDXVH� LW�ZDV�PXFK�PRUH� WKDQ�PHUHO\�D�GHPDUFDWLRQ� OLQH�RQ� WKH�SDSHU�� ,W�GLG�QRW
GLYLGH�RQO\�WKH�ODQG��LW�GLYLGHG�SHRSOH��WKHLU�KLVWRULFDO��FXOWXUDO��VRFLDO��HFRQRPLF�DQG
QDWLRQDO�KHULWDJH�ZKLFK�KDG�DOZD\V�EHHQ�D�XQLWHG�UHJLRQ�RI�*RUL^ND��)RU�LQGLYLGXDOV
LW�ZDV�D�UHDO�FXOWXUDO� VKRFN��ZKLFK�FRPSOHWHO\�FKDQJHG� WKHLU�HYHU\GD\� OLIH��7KH� OLIH
RQ� WKH� QHZ� ERUGHU� ZDV� PDGH� GLIILFXOW� DOVR� E\� WKH� LQWHUQDWLRQDO� DQG� <XJRVODY
GRPHVWLF�SROLWLFDO�FLUFXPVWDQFHV�LQ�WKH�SHULRG�RI�WKH�FROG�ZDU�DQG�,QIRUPELUR�

9,5,
���1DYDMDQR�VDPRVWDQVNR�NURQLNR�KUDQL�IUDQaL^NDQVNL�VDPRVWDQ�QD�.RVWDQMHYLFL�
���6RJRYRUQLNL�VR�Y� OHWLK����������ELOL��GYRODVWQLNL��NPHWMH��NL�VR� LPHOL�]HPOMR�Y�VWR�
PHWUVNHP�SDVX��OMXGMH��NL�VR�CLYHOL�Y�VWRPHWUVNHP�SDVX�DOL�OH�WHPX�aLP�EOLCMH��OMXGMH��NL
VR� LOHJDOQR�SUHaNDOL�PHMR�� WLVWL��NL� VR�ELOL�QD�PHML� ]DMHWL�� OMXGMH��NL� VR� ]DUDGL�PHMH� ]D�
PHQMDOL�GUCDYOMDQVWYR��PLOLaQLNL�� DJHQWL� WDMQLK� VOXCE�� CHOH]QLaDUML�� OMXGMH��NL� VR� ]DUDGL
PHMH�WDNR�DOL�GUXJDaH�LPHOL�RSUDYLWL�]�YRMVNR��FDULQR��PLOLFR��WDMQLPL�VOXCEDPL�LQ�EHJXQ�
FL��.UDMHYQR�SRUHNOR�VRJRYRUQLNRY��0LUHQ������%LOMH�����9UWRMED������>HPSHWHU������5R�
CQD�'ROLQD� �����3ULVWDYD� �����1RYD�*RULFD� ������.URPEHUN� ����� 6RONDQ� ����� 6WDURVWQD
VWUXNWXUD� VRJRYRUQLNRY� �� OHWR� URMVWYD������������� ����������������������������������
�����������������������������������������������������������������������������������������
��������������������������������������6SROQD�VWUXNWXUD��PR^NL�������CHQVNH�������.HU�MH
YHaLQD� RG� ��� VRJRYRUQLNRY� CHOHOD� RVWDWL� ]D� MDYQRVW� DQRQLPQD�� VR� QMLKRYL� QDVORYL� LQ
RULJLQDOQL�]DSLVL�SULaHYDQM�GR�QDGDOMQMHJD�VKUDQMHQL�Y�]JRGRYLQVNHP�DUKLYX�*RUL^NHJD
PX]HMD�
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